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Abstract

In this paper, we show that the problem of pricing the American put is equivalent
to solving an optimal stopping problem. The optimal stopping problem gives rise to
a parabolic free − boundary problem. We show there is a unique solution to this
problem which has a lower boundary. We identify an integral equation solved by the
boundary and show that it is the unique solution to this equation satisfying certain,
natural, additional conditions.

KEYWORDS : AMERICAN OPTION, PUT, OPTIMAL STOPPING, FREE−
BOUNDARY PROBLEM, MARTINGALE.
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����� ���	��� ������ ����� ��� ����������	� �������	��
��� �������� �������	�� �� �� � ���	�� �����	��� ��� �� ��� ����������	� ���� ���
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���������� � ��� � 
���
� 	� ��
������ 	� ���	������
 $����	�� �	 � ���� ��� ������� ��	�� ��������� ��� ��	 ����
������� ���� �	
�����	�� �������� ��	 ������ ��� 	� �� ������� % �	 ��� �� ���	�� 	�
���	����� ����� 	� ��������������� ������ ��	������
 &�� �� "������	��� 
���������
������ 	� �	���!���� ��� ��	� ��	 ���� ���� ���� ��� 	� ��#�������� ���� ��	�� �
��������� ���	��� ������ ������� ��� 
���������� ������� � ��������

' #��� ��	 ���	
���	 ���	��� ��� "������	��� �������� ���� �� � ��
 (��
���	� t = 0 
�� ���	
���� )) ����	��	 ** �� ��� �����	��
 + �	�� ��� ������% ���
�	���!���� �������%������ 	� ������� ���	 
������ �� ���� Y (τ(.), .) = (q − Sτ )

+ ≥ 0
���	 ���	� t = τ(.)% ���� �� Y ��	�� ��� ������ ��������� ��� � τ �	�� ���	�� ������
���	 
��#��� ��� ��������
 "	���������% � 
�������% ��� �������� ��������� �����	��
	� �������� ���	 ������ �	� ����������	� ���� x ≥ 0 ��� ���	� t = 0


,� ��������� ��� ���������	 ��	��% ���� ������ 	� ��	�� �� ���� ���� % 
���
�
� )) 
����� ���� ** ���	 ������ ���	� t = 0% ��� 	� ������� �� ���� Y (.) ���	 �� �
T ��� ���� ��	�� � ��������� ���	��� ������ ��� 	� ��	�� ����
 -����	�� � �������
����������� 	�  ���	���� �� �	� ���� x ≥ 0 ��� �� �����	�� ��� t = 0% ��� 	� ���� �	�
�������� ��	
����� ������������� ��� ���
�	 �π, C� ��� #� ��� 
���� �� 
�	�������
	� ���������� �� 
������� ��� 
���
� 	� ��	 ���� ��	�	� �������� ���	 ���������� 	�
!������ ��	 ������� 
���
� ������ 	� ������ X(.) ≥ Y % ���� X ��	�� � �	��� � ���������
���
 ."�� � ���� ��� 
���������� ���!���� 	� ��	��

p = inf{x ≥ 0, | ∃(π, C) τ έτoιo ώστε X(τ) ≥ Y (τ) σ.β.}

"�� ��	 ����% � ��������� ��� �������� ��	�� 	�  ���	���� �� ������ ����
−x ��� 	� ���� �	� �������� ��	
����� ������������� ��� ����������� � π, L� ����
������ ��� �	� ���	� ������ τ ′ ������	 ���� � ������� ��� #� ����� ��� ���	� ���� 	�
��� ��������� 	� ����/�� �� ����� ��� 
���������� ������ �����!�	��� �� "������	���
��������� 


-������� #� #��������� ��� ������ ��� ����������� ����������	� ��� �	�
�������� �	�� ��	
�	�� ��� ��� ��� ������
 ,� ����	����� ���� ����#� ����	 ��	�����
����� �� ��	��� ���	�
 ' ���� ��� ��������� ������������ ��	���� ��� �� ��	���� ���
���#����� 	� ����������� ��������!�� ��	 ��������������
 0��#������ ��� � ������

�	 ���� ))��
�����** ���� ��� ��	�� ���
�	��� �� �� ��� 
�	 �������	 )1���� ���** ���	
�����% 
���
� � ���� ��� ������� ��� ���	� t ������ 	� �������#�� ������ ��� ��	
�	��� ��� ����� ��� �� ���	��� ������� ���	 �� t
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�������� ��	
��� ��
� 
���� ���� 
	�
�����
� (Ω, F, P ) ���� �
��� �����
	 �
������

Brown {W (t), 0 ≤ t ≤ T, W (0) = 0 σ.β.}.
���� � �	�����	�� 
��� ��
����	����
 �������
	 ��	 ����
���	 �� ��
 
�
��
����� �����
��� [0, T ]� �
�� T > 0 ��
���� �
	 ������
	 �
���� �

FW (t) = σ{W (s), 0 ≤ s ≤ t}, ∀t ∈ [0, T ]



�
������ 

� �� W (.). �
	
���� ����� �� ��	 ! σ > 0, δ > 0, r > 0 ��
����� �
	
�� 
������
 ���� "���	�
�	�� �	�
	��
��� 
������ # american put option$ �� �	

������� �� �	�� S� 
�� 
���� ��	 ��� �����	�� ������ Brown �� ��
���� �
	���	� r% &
�	�� ��� ������� �����
	 

� �� �����

S(t) = S(0)H(t) (0.1)

�
��

H(t) = exp{σWt + (r − δ − σ2

2
)t}

∀T ∈ [0,∞), x ∈ (0,∞) �
�� � {Wt; t ≥ 0} ���
	 � ��
	�� ������ Brown% '
�	������	
���� 
��� ��� �� �
	����	����
�� 
��
�	 
��	�� �
 ��� �� ��
 	��� �
�� martingale
����� 
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�����
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 ����� ���� ��� ���� (Ω, F, Q), �� ��� 

�
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�(������
 #& �	
�	���	
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������ *%+$% ,��� (
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��� ������ ��	 � S(t) 
�� �����
	 

� ��� #-%*$ ���
	 � ���
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��� ����
��	��� �	
)��	��� �.������

dS(t) = σS(t)dWt + (r − δ)S(t)dt (0.2)

�
��
S(0) = 
��	�� �	�� ��� S(t) ���
����

r = ��
���� �
	���	� �������
σ = 
��
��
 % /
����	���	 ��� 
�����	
 ��� �	��� ��� �	�
	��
���% � 
	� �����	(

������ ���
�� �������� ��� ���
	 � ��
	�� 

���	�� % ���� ���
� ���� ���
	 �� σ ����
���
� ���� ���
	 � 
.�
 ���� �	�
	��
���% 0����� ��
	�� 

���	�� ���
���	 
 .���
��� 
	�
�����
� � ���� ��� ������� �
 ������	 �
���� 

� ��� ���� ������� �
�
 ���
����	�� 
������ ����
���� ��� �	�
	��
���%

δ = 11���	����	�� �
	���	�22 � � ������� 
�� 

����	���	 �� ���	��
�	�� 

����� �	
�
������� ��
�������
� �� ���	��
 
�� ���	 �	
������� �� ��� ����
�	����	
�� 
.�
 ���
�������%
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���������� ��	
��� �� �����	
 ��
� �� �����
��	
 ���� ��� �� �����	
 ��� ��
� K 

 ����� T

	
 
���
�� 
������� ���������	
 �� 
������� ������� ���
��
���  
��! ��� ��� �������
���
��	� t 	
 
������� r ���
 �� ��
� ��� �� �����

� 
�� ����� ����� ��� ��������
���
��	���� �� 
����

K + rK = K(1 + r)

��� ��� 
��
�� 
������� ��� �� ����� ����������� 

 n ������� ���
��	��� �� �
"����� K
�� 
����

lim
n→∞

K(1 +
r

n
)n = K lim

n→∞
(1 +

r

n
)n = K exp{r}

#
 ��� ���� 
������
	� "���
� ���
�� 
�� 
�	����
	� ��� �� ��
� ��� �
"����� K 	


��
�� �������
	� ���
 	
�� ��� ����� t �� ���
�

K exp{rt}.
$���
 ������� ������ �
"����� K(0) ���


K(t) = K(0) exp{rt}.
%� "����	
�� ���� ���	��
��� ������� ���� ��� ���	���� ��� 
����
� �� 
�	
����

���� ��� ���	���� K(0) 	
 ��� 	
�������� K(t)� $���
 � 
������
� ��������	�� ���
�� &	
�������� �����!	� ����
�� (american put option) �� 
����

K(t) = K(0) exp{rt} �
��������� ���	
����

�� �
� � ���� 
�� 	�������
�� ������� �
 ������ 
���� ��� 
�

�

���� S(0) = x 	��

�� ��� 
�� 
���

p(T, x) = sup
τ∈S0,T

Eo

[
exp(−rτ)

(
q − xH(τ)

)+
]

(0.3)

0 ≤ x ≤ ∞ �0 ≤ T ≤ ∞ ���� S0,T = 
���� 
� ������ 
�� ������ �
���� ��� ������
�

���� �
� [0, T ]. ������ ����
� �
�

p(0, x) = (q − x)+.

���	
����

��� 
������ ��� 
� �
�����  !" �
� � ���
��
�� ������ ������� 
��
��
��������� 	�������
�� ������� #put option $ �
 ������ 
��� 
�� ��
���� S(0) = x
	��

�� ��� 
�� 
��� %

τx = inf{t ∈ [0, T ] : p(T − t, S(t)) = (q − S(t))+} (0.4)

� ������ 
���� ������ �
���� ��� �����
� 
���� �
� &'�()!
(� �
�����
��� ��� ��������*
� � �������� 
���� ��� 
�� ���� 
�� ��
���������

	�������
�� ������� 
���� �
� ����
� �� ������
 suppremum ���� �
 ��� �� ���+������
�������
�� ������ �
����! ,�� 
� ���� ��
� 
���� 	������ �� ��������

� ��- 
�+
���
�
 
� ����� 
�� ������ #'!.$! -/���� �
� ��+�� ��
� +� ���	
�����
 �
� � ���� p(t, x)

�� ����
�������� 	�������
�� ����
� �� �����
����+
� �� � ���� 
�� ��������
��

�
�+���� ������� ��� ��� 	��0����� 
������ ���� ��
� ��� ���*

�� ��� 
� �����
#'! $!

1



� �������� �	�
 �	��
���� ����� p(T, x) ����� � �������
 ���� ��� ������ C ��	
�
���
����� �
����� ��� �	��
����� ����� ��	 ��
��
������ ��� ��� ��
����� �������

Lf = 0 στo C = {(t, x) ∈ ((0,∞))2, x > c(t)}

f(t, c(t)) = q − c(t) 0 ≤ t < +∞

f(0, x) = (q − x)+ c(0) ≤ x < +∞ (0.5)

lim
x→+∞

max
0≤t≤T

| f(t, x) |= 0 ∀T ∈ (0,∞)

���	

Lf =
1

2
σ2x2fxx + (r − δ)xfx − rf − ft

� ������� ��	 ���
�������� ����������� ������� ��� ��� ����
������ �
���
�
��� �
���� �� ��
������ ��� ���	 � ���
 ��� �����
�   �����!! �� ��� �	����
�����
������� ���
���
� 
 ��� ��	 q �
�� �� ���
��� ������ �� �
�����" �	�� �� �������
���
����� ��� �� �
��� �
��� ��� ��� 	��
��� ������� ����� ��� �� �	��
���� ��	#
���� ���
�� ���� �� ��$�
��$�� �
�$������ ��� ��� ����	���� �
�����
���� ��� ���
�
��	 ���
�������� ����������� �������

%	���� �� ��$� �
��� t 	��
��� ��� ���
 ��	 S ��	 ��������� �� ����
� �������
�� �	� ��
�����# ��� ��� ��� �
���� ������� �� �
����� �� �������� ��� ��� ��� ����
�
���� ������� �� �� ���
���" �
�&�	�� �� ����
� ������� c(t) = S # ���	 �� c(t) �����
�	�� ��	 ������&���� ��� �
������ '(")*" +������ �� �� ����
� �	��# �� ��������
�
���� �� ����$�� �� S < c(t) ��� �� �
���$�� �� S > c(t) " � ������ ���
 ��� �� ��������
����� ��� �	��
���� ��� ��
��
� ���
� ��� �����
� ��� ��	 �
���	 %"

,(





��������� �� 	
��
�� ��� ��������
�� (p(.), c(.)) ����
�
� �� �������� ���� ��� ����
�������� 
�
��
��� �������� �� �������� ���� �
����
 
��� ��� ��� �!��
��"

L(t, x) = 0 στo C

f(t, x) ≥ (q − x)+ ∀(t, x) ∈ [0,∞)2

f(t, x) = (q − x) ∀t ∈ [0,∞), 0 ≤ x ≤ c(t) (0.6)

f(0, x) = (q − x)+ ∀x ∈ [c(0),∞)

lim
x→+∞

max
0≤t≤T

| f(t, x) |= 0 ∀T ∈ (0,∞)

fx(t, c(t)+) = −1 ∀t ∈ (0,∞), t → c(t)+

#�� �
 
���� ��� �������
� �� ����
�$���
 ��� � �$�� ��� ��
��������� �����%�
����� �%����� ����
� �� ���������
� �� � ���� ��� ����������� ��!��%� ��� ��������
�%� ���%� �
 �� &
%���� '�'� ������ �� �
�$���
 �
 �� &
%���� '�( ��� �� 	
��
��
(p(., .), c(.)) 
���� � ���
���� ���� ��� ����������� ��� 
�
������ �������� )�� ���
����
�$� ��� �����%� ���%� �
����
��� �� !�
����
� �� ����
�$���
 �
���
� �������
�
���� ��� ��� ���
����� p(.) ��� ��� ��� �� ���
����� ��� ������� c(.)� #��� *������
'�+ ���%� ��� ��� &
%���� '�, �� ��!�������
 �
 ��� ���������� ��� ����
���� ��
�
��������� �����%����� ���%�� 
������ ��� �
 ��� �
���
��  
�
�� ��� Snell ��� ��� ��
-�
�������� �������� �%����� ���
��� ��� ��� �!���

ξ(t) = sup
τ∈S0,T

E(Y (τ)/F (t)) = exp−rτ p(T − t, S(t))).

��� ����
�
� ������ 
����
�� ��� ��� ����
�$� ��� &
�������� '�(� ���%� ����
� �� ��
�����
� �
 ��� martingale ��� �
 ��� ��  ������� �����$�� .������������
 ��� ��
����
���� ��� �� !������������
 ���������� !������ ��
����

,,



��� ������	� 
 ����
������ ���� ��	����� ��	������ ���	��� �������	���
����	�� ��	 
��������� ��� ����	����	�����	 ���� ������� ����� ���	�������� ��
����	���	�� �������� ��������� ��	 �	 	������ �	� ���	��� �����	� ��� ����	����	����
�	� �� !���	���	��  	������ �������� !�� �	������� ��� ������"��� ���� ���� #$�%&
��	 ��� ������ ��� Snell� '�	�����  �����	 � ��� �	"� ��� 
���������( ���� ��� ������
������	 � ����	���� ������ ������( ���� ���������	 � ���	��� �	�� �	� ��  	�������

��� ���������(  ������ �	�  	�������	� ��� 
��������� Girsanov ��	 )���	����
*�	����	��� +���������� '����� ��� �	�������	 ���	��� �������	�( ��� ���������
���������� �������� �	� �	� ��� ��"�	� ��� +���������( ����� ��� ��
����


,



�������� �

������� ��� ������� (filtration) ���	� 
�	 ����
����	 	�� ����
����� Ft �����	 ����

s ≤ t ⇒ Fs ⊂ Ft

�������	� �� 
�	 ���������	 � ����	 ���	� ��	����
� 
���� ��� ������� ���

� t

������� ��	 ��	 ����
����	 ���	��� 
��	������ Xt ���
� ��	� ����	�
��
��� ����
σ���
���	 Ft 	� � Xt ���	� Ft � 
������
� 
�	 ���� t!

������� ��
 "#��� (Ω, F, P ) ��	� ����� ���	�����	� $Ft 
�	 ����
����	 	�� ����
�����
���� F (Ft ⊆ F ) �	� Xt 
�	 ����
����	 ��	

	����� $ ����������
�� (E[|Xt|] < ∞)
���	��� 
��	������ ��� ���	� ����	�
��
��� ���� ����
���	 Ft !
i) % ����
����	 Xt ���	� 
�	 martingale 	� &

E[Xt|Fs] = Xs σ.β. s ≤ t

ii) % ����
����	 Xt ���	� 
�	 supermartingale 	� &

E[Xt|Fs] ≤ Xs σ.β. s ≤ t

iii) % ����
����	 Xt ���	� 
�	 submartingale 	� &

E[Xt|Fs] ≥ Xs σ.β. s ≤ t

������� ��� '����� ������ (Stopping T imes)! "#��� (Ft)t∈T 
�	 ����
����	 ��	�
�����
�� ��	 �*���� Ω$ ���� + ���	� ��	 �*���� ������� ! "#�	� ������ ������ ( stopping time)
������� 
� ��� Ft 	��� ���	� 
�	 	��������� T : Ω → I �����	 ���� &

{T ≤ t} ∈ Ft, ∀ t ∈ I

��



��� ��� ����	� 
��� �
�
� �
���� ��� � T �
�
� 	�
 ���


 	��
������ �� � ������
������

τ < ∞, σ.β.

���� ��	� ��� � τ �
�
� �����
�	���� � ��� �� �������� ������ ���

t ≤ T < ∞
���� ��	� ��� � ������ ������ τ �
�
� ��
�	����

������� ��	 �
���������� πn(t) ��
���
� �� ����	���

ηn(t)Sn(t)

����� �� ηn(t) �
�
� 
���	�� � � 	����!� ��� �������� �� �
���������� �
� �� Sn(t) �
�
�
� ��	� ��� ���� 	�������"� π′(t) �
�
� �� #�����	
 (π1(), ..., πn())′

������� ��
 $ 
����%� ���#!� &gain process'( ��� 
������
 �� ���� ��� ���#
��� �
����#���� ���� ������� #�����	
 [0, tm]( ��
���
� 
�� ��� �����

G(t) =

∫ t

0

[πo(s) + π′(s)1]r(s)ds +

∫ t

0

π′(s)[δ(s) − r(s)1]ds

+

∫ t

0

π′(s)σ(s)dW (s), 0 ≤ t ≤ T. (1.1)

$ 
����%� �
������
�
�� πo(.), π(.)) ���	����
� 
������	
��#����	��� &self−financed'

�

G(t) = πo(t) + π′(t)1, ∀t ∈ [0, T ] (1.2)

)��
#� � 
%

 ��� �
������
�
�� �� ���� ����� �
�
� 
�� 	� �
 ���#� 
�� ��� ����#�����
�� 
��� ��� ������

������� ��� *�
 F (t)− ����
�	��	��� 
����%� π(.) ��� ��
������
 ��� �������∫ T

0

|π′(t)(δ(t) − r(t)1)|dt < ∞
∫ T

0

||σ′(t)π(t)||2dt < ∞

���	����
� martingale−generating ( 
� ��� �� 	���� ���
�����
� Po( � ������martingale

Mπ
o (.) = G(t)

So(t)
�
�
� 	�
 martingale� �� (πo(.), π(.)) �
�
� 	�
 
����%� �
������
�
��

�
� π(.) �
�
� martingale − generating( ���� �� (πo(.), π(.)) ���	����
� martingale −
generating �
�����������

��



������� ��	 ���������� 	
���
� �����
 Γ(t) �0 ≤ t ≤ T ��
	� ����martingale ������
�� �������	 ��	� ��	���
�� ���	
��� 	
���
� �	� ��	 ������ martingale. � Γ(t) �����

����	� �� �� ��
����� ������ ��� �	���
��	� 	�� ��
 ���
���� ���  ��
��� �������	
[0, t].

������� ��
 !"��� Γ(t) 	��������� 	
���
� �����
 �	� # πo(.), π(.)) 	
���
�  	������
�	����$ � 	
���
� �������	� ��� � ���%��	� �� (Γ(t), πo(.), π(.)) ��
	�

X(t) = Γ(t) + G(t)

���� G(.) ��
	� � 	
���
� ����&
$ '�  	���������� πo(.), π(.)) �����	� Γ(.)−  ���	���
�������
� 	


X(t) = πo(t) + π′(t)1, ∀t ∈ [0, T ]

������� ���� !"��� M ��	  ���	�	���� �	� B ��	 F (T )− ��������� �� 	�	 ���	�
����� �����	 &��� 
	 �� ��� B

So(T )

	 ��
	� ���� ��	���
� � ���
 ���	���$ (��������

������ � ��


x = Eo[
B

So(T )
] < ∞. (1.3)

'��� ���� ���
i) '� B 
	 ��
	�  ���	���������
� #financable) 	
 ���� �� ��	 ��	�� 	
���
�  	��
�����	���� (πo(.), π(.)) ��� ������ � � ����� 	
���
� �������	� ��	
������ ��
 � ���
X(T ) = B ���	�� �� ���

B

So(T )
= x +

∫ T

0

1

So(u)
π′(u)σ(u) exp{δt}dWo(u) σ.β. (1.4)

ii) �  ���	�	���� M ��
	� ������ 	
 ���� F (T )− ��������� �� 	�	 ���	����� B ��
B

So(T )
��
	� ���� ��	���
�� ��	
������ ��
 � ��� #*$+) �	� ��
	�  ���	���������
�$

������� ���� !"
	 	���� ���	���������
�  	���������� �
���%��	� ���	���	 arbitrage
	
 � ��	���	��	 ����&
 G(.) ��	
������ ��
 � ���

G(T ) ≥ 0 σ.β.

�	� G(T ) > 0 �� ������ ���	
����	$ ,�	  ���	�	����� ���
 ����	 ���� ��
 ���	�����
arbitrage� �����	� ��&����$

��



���������� ���
����������	
 � arbitrage �	��
���
� � �
������	� 
���
 �
� ������ ��� ����� �

�����	
��� ������
���� � ����
 ��	��
� ��
 ������ 
	����
������ ��� ��	��	�� � ��

�
�
�
 �������������� ��������� ��	 ��
���
��
 
��� ���������
� ��
 �����
���
 �� 
���
������� �!	 ��
����	 ���
"� ��
��������	 ���!	 ������
�!	� �!	 ����	 �!	 ���
��	���	!	 
����	 �
� �!	 ���������!	 ����	�����
�!	 ��� ��
����	 ���� ����	�� 
�� 
���� #� ��
"��� arbitrage 
�������	 $������ % ����������
�
&'	
 ������ �
������
��� ����
����
 �
�
��� ������ �!��� ��	��	�� (� arbitrage 
	�� 
������� �� ��
 �� ��
���� �
�
��
�� � ����
 
	��)
�	�� ���	 �
�
��
�� ��������
��
* �		��
 ��� arbitrage ���� ���
�� ��	
���
 �� ��	 �������
 martingale �!	 ����"� 
�����	!	 ����	 � 
���
 �
�����
 �� ��	 ��
�"� �	�� ������ ���
	����
� �
�! 
��
�� ����� �� ����"������	�� ����� �!	 
)�)
�!	 ����!	 S(t) ��	
� martingale. '����� �
�		��
 ��� arbitrage ��	
� 
	�"
����� 
�� ��	 ����������	� �
	�	���������� �!	 ����	
�!	 ����!	� �� 
��
 ����
 �	
 �
������
��� ��	
� �	
 arbitrage ��
 ��� ����� �!	 ����!	
S(.) 
	 �
� ��	� 
	 ��	
 arbitrage �
� ��
 ��� �
	�	���������	�� ����� �!	 ����!	 S.

���������� ��	
(� ��������
 ��� ���������� ��
 ��	 ��	
���� ��� ������� ��	��
� 
�� �� ��+�'�

dSt = (µ − δ)St + σStdβt

���� � βt ��	
� ��
 
	���"� Wiener. * �
�
������ µ �	��
���
� ,,�����-- $drift% ���
����� ��� ������� �
� ����
��� ��	 
	
��	���	� 
������ ��� �������� * �
�
������
δ ��	
� � ������ 
������� ������
��� ��� ������� ����� �
������ ���� �	� � �
�
�� 
���� σ �	��
���
� ���
)�������
 $volatility% ��� ������� �
� ����
��� �� ������� �!	
��
���
	��!	 ��� ����� ��� ���! 
�� ��	 
	
��	���	� �����

&'	
 ������ ��	���� ��
 ����
������ ���� ��� µ �������� 	
 �� �
�
����
��� 
�� �
	 �	
 ���
����
����� Girsanov ��� ��������
��� ���� � ,,�����-- ��� ����� ���
������� ��	
� ��� �� �� 
	�� ��	��	�� �������� r. ����������	
� ��!����� �	
 ����
���
	����
� ��� ���� �!	 ��	���	 ��	
�����!	 ��� [0, T ] �����
���	� �� �	
 �����
���
	����
� P �
� ��
 
	���"� Wiener Wt �
�! 
�� �� P � �
� ���! St � ���� ��� ��+�'�

dSt = (r − δ)St + σStdWt. (1.5)

(��� �� ��	 ���
����
����� Girsanov

dPµ

dP
= MT

����

Mt = exp
µ − r

σ
Wt − 1

2

(
µ − r

σ

)2

t

��



��������� 	�� �	
�� �����

�
�� Pµ 
� ����� ����� �������� �����
�� �����	� �� ����

� ����� �

W̃t = Wt +
µ − r

σ
t

����� ��� ��	���� Wiener. � �������� ������� ����
�� 
����

dSt = (µ − δ)St + σSt[dW̃t − (µ − r)

σ
dt] = µSt − δSt + σStdW̃t − St(µ − r)

= µSt − δSt + σStdW̃t + rSt − µSt = (r − δ)St + σStdW̃t

� ����
����� ��
� ����� �����
��� ���
� 
��� �� ����� ������
� ������
�  ! "# �
���� 
�� ������������ ��������
�� ������� ���������$�
�� ��
 ��� ��	�� ��� �	�����
�� ������ ��!�! �� ���� 
� �	
�� �����

�
�� 
�� ���������
�� ��� ��������!
%&
��� 
� Pµ ���� ���������
� 
��� 
�� µ# ��� P ����� �������� �����
�� ������ �
��	�� ��
� ������ Pµ − σ.β. 


� ��� �
�� 

�� ������ P − σ.β. '�� 
� �
�� ��

 � 
���

�� ������������ ��������
�� ������� ����� ������
�
�� 
�� ((
�����)) µ ��� ������
�
�� �����
���� ����	
��
�� 

� µ = r. %���� ������ �� ��� ������ 

� �
� ��
������ ��


� e−(r−δ)tSt ����� ��� martingale.

������� ���	 *%�� +���������
 ���
���&� �American contingent claim# ���
����
��
��
 ��� �����
��� ������
���� ��
��� C(.), ��� ���������� 
�� C(0) = 0 σ.β. ��� ��

��� {F (t)}−����������	�� , ����� ������ �� ����
��
 
��� ��	���� �&���� ������������
L(.) �lump setlement#! -������� 
�� ��	���� ����������� �� ����

Y (t) =

∫
(0,t]

dC(u)

So(u)
+

L(t)

So(t)
, 0 ≤ t ≤ T (1.6)

� Y (t) ����� ��
� &����	��, ����
���&� �� ���� t ∈ [0, T ], ������� ��� ���������� 
��
��
����

Eo

[
sup

0≤t≤T
Y (t)

]
< ∞ (1.7)

������� ���
 � Y (t) ����� � �����
��� ����������� ��� ���$�
�� ��
 
�� 
��� � !.#
����� �� ����
���, ����� ������� �� Y (T ) ≤ ¯limt↑T Y (t) σ.β. �����	�� �
�� ����
�����

�
�� (Ω, F, P ) ��� ����������	�� �
�� �/������� {F}0≤t≤T , � ����� ����������

� ����� ���	���� ��� ����� ���������	�� ��
 �������� ������ 
�� F ! 0���	
���� 

� 
�
F (0) ����	��� �
�� ������ �����

�
�� 1 �  ��� ������ 

� ������ Y (∞) = limt→∞Y (t)!
2��$����, �����	��, 
� ������ S[0,T ] ��� ����	��� 
��� {F (t)}− ��
���� �
���� �� 
����
�
� 31,45!

��



���������� ��	
� ��������� 	
�� ��	�
��

��� ��	������� �	��	� �
� long ���� ������� ��	
 �	�
��

���� ��� �������
� � ��
 �����
	
 ����
� �� ������ ���� γ ���
 ���
�� ���
� � �����
����	�	� ��
 ���
�� �
��
!� 	����
 ���"
� ������� ������	
 �
� short ���� ������� ��	
 ��
��
�� ���� ��� �������
� � �����
	

γ ��� ���
� ����
 ��
 �����	
 C(.) ���
 ��������"
� ��������� 	�
���	
 	�����  �
�
 F (t)− ���
� ������ τ : Ω → [0, T ] � ������
�
���#	��
 ���
�� �������" $�� ���
� τ  � ��������� ����
�	���
��� �� �	���
�
��
����� C() ��
 �����
	
 �
�� ����� L(τ)"%���
 �� τ 	�
���	��
 � ����
��
�� �
��
!� 	����

�
� ��
 ������ 	�
�


Γ(t) = γ − C(t ∧ τ) − L(τ)1{t≥τ}, 0 ≤ t ≤ T (1.8)

&
�
���	�� ���
 {τ = 0} � ������� �����
	
 γ(0) = γ − L(0) ���
 ���
�� ���
� ��

��	
�� ������" � ��������� ��	
 ����
��
�� �
��
!� 	����
 −Γ(.)" '
� �� �	�
����	��
(�	�
��

�� ��	������ 
���	
 C(.) ≡ 0. $����
� �	 ��
 ����	�� ���� �� (�	�
��

��
�
������ ������� ��
	
 ���
 ������ ��� �� �
������ 
� ������	
 �
� ����� ��
 �	����
 
�	 ���
������	 ���
� ��

 �� T ��
 �	 �
� ����	��
��
� �
�� ������� q > 0"��
�� ���
�
��
������ ���	 ��
	��
 ��� ��
 ����

L(t) = (q − S(t))+

� ������� ����	
  	�����  
� 	�
��!	
 �
� ����������
� �
� 
� �
�
�������	
 ��
 ��
��
�
��	�
�� �	 ��
 ���� ��� " ) �
�
�����
�� ���� �	�
����	��
 ��� �� ���� ���� 	�
�

�������� �
� �� ���
� ������� τ ��� ������ �*"+�" ) �������	�� ����	�� 	�
�
 ���

τ = T  �
��� ���	 � �
�
�����
�� ��
 �
�������� 	�
�
 ���� �� �
��
����� 	�����
���
�����" $����
 ��
 �	������� � ����
��
�� �
��
!� 	����
 ��� ������ ��
	��
 ��� ��


γ − C(t) − L(T )1{t=T}, 0 ≤ t ≤ T ≤ ∞
��
 	�
 �� π(.) 	�
�
 martingale − generate ����������
�  � �
��
!� 	���	���� ��
	��

��� ��
 �����

X(t)

So(t)
= γ−

∫
(0,t]

dC(u)

So(u)
− L(T )

So(T )
1{t=T} +

∫ t

0

1

So(u)
π′(u)σ(u)dWo(u), 0 ≤ t ≤ T (1.9)

� ������� ���	
 X(T ) ≥ 0 � 
����
���

Y (T ) =

∫
(0,T ]

dC(u)

So(u)
+

L(T )

So(T )
≤ γ +

∫ T

0

1

So(u)
π′(u)σ(u)dWo(u), σ.β. (1.10)

'
� 
� 	!�������	
 ��
 ����	� 
� �����	
 �� ���� ��� 	����! �
���
�

����  �
 �
��������� ��������	
 �� �����
�� ���	
 	����� X(t) ≥ L(t)σ.β. �
� 0 ≤ t ≤ T. )
����	�� ���� ��#� �	 ��
 ����� �*"*,� ������
 ���


Y (t) =

∫
(0,t]

dC(u)

So(u)
+

L(t)

So(t)

��



≤ γ +

∫ t

0

1

So(u)
π′(u)σ(u)dWo(u), σ.β. για κὰθε t ∈ [0, T ] (1.11)

�������� ��	 
��
� 
������������ ��� �� ��� ������� ��	�� 
�	����� �� ���� t �
����	����� ��� ����	���� �	������	�� ���� �� ����� ��	 �
���� � �	�
������ ������ 	�
�������� 	� ��	 � ������� ��� �� t�!������	� � �	�
����� �
���� �	 �� t �	������
�����
��� ���� ������ ���	� τ � � ������ ����	�� ����� 
�� [0, T ]

Y (τ) =

∫
(0,τ ]

dC(u)

So(u)
+

L(τ)

So(τ)
≤ γ +

∫ τ

0

1

So(u)
π′(u)σ(u)dWo(u), σ.β. (1.12)

"��� ��	�� ���� ��� ��������
� ��� � ������� � �� �	��� � �
���	 ��� ��	���� ��� ��	

��#� � ���� �� ��	����� �������� ���	 �
����� �� �������� 
� �����	������ ���	� τ ���
����� �� � �����
���

������� ���	 �������� �� (C(.), L(.)) �������	��� �������$�� %��� ���&���� � � ��
��� 
�� ���	� t = 0 ��� ��	 
��
�

V ACC(0) = inf{γ ∈ R;∃ ένα martingale χαρτoφυλάκιo π(.)} (1.13)

��� ���	������ ��	 
������

���� �������������	
 ����
����	�
 ��� �
 (C(.), L(.)) ����� ��� martingale−generate
����
����	�
 π̂(.) 
���

γ = V ACC(0)


���
�� ��� '!����� ��	

V ACC(0) = sup
τ∈S0,T

EoY (τ), (1.14)

���� S0,T = ��	�� �� 
�	��� ��	 ���	�	 
��
�� ��� ����	��	 ����� 
�� [0, T ]� "����
������� �	�� ���	�� 
��
�� τ ∗ ���� ���(�	���� ���� �� sup ��� �	� �	��
�����
����
�����$������ π() ������ )
�� *

Y (τ ∗) = V ACC(0) +

∫ τ∗

0

1

So(u)
π(u)σ(u)dWo(u) σ.β. (1.15)

�������
� ��� Y (.) ����� �� ������	�� ����� ������ ���� �!����"�� F �� 
#
��
����� #�
��������� �#
 ������	� ���
�� F � $
 F (0) #������� �
�
 ���
�� ����
� % �
� 	�� �#��� 
����� 
��

Y (∞) = limt→∞Y (t)

�� ����� ξ(0) = Z(0) ����� � ������� ������&���� '' �����
�"� (( 	�� ����
�� 
� ������ 

Z(0) = sup
τ∈S

EY (τ)

�)



���
0 < Z(0) < +∞

��� �� ��������	
��
� ���� ������� 
��
�� 
�����
� ��� ���������� {Z(u)}u∈S ���
����	�� 
���������

Z(u) = ess sup
τ∈Su

E[Y (τ)/F (u)], u ∈ S

��� �	��� � �����
�� ���
���
��� ����
���� ��� ������� 
��
�� 
����������� � 	
���
��� u. ��� ��� �����
� 3.1 ����
� ���

E(Z(τ)) = sup
ρ∈Sτ

EY (ρ) ≤ Z(0) < +∞.

������ ��� ���� ������

��� ����� 
��
�� t ∈ [0, T ] �

Z(u) = ess sup
t∈S

E[Y (t)|F (u)]

�	��� 
� �������� ��� ���
��
�

��� ����� � {Z(t); F (t); 0 ≤ t ≤ T} ��� �
���� �

E[Z(t)|F (u)] ≤ Z(u) σ.β.

� Z(t) �	��� supermartingale ��� ������ t → EZ(t) �	��� �� �� 
������ ������� 
��
supermartingale {Zo(t); F (t)0 ≤ t ≤ T} 
� RCLL ��
��� ��� ���������	 ���

P [Z(t) = Zo(t)] = 1 ∀t ∈ [0, T ].

���
� ������ ����
� ��� Y (τ) = limt→∞Y (t) ��
�����
� ���

Zo(∞) = Z(∞) = limt→∞Y (t) σ.β.

�������� � 
� �������� Zo() ���
�!���� Snell "������ ��� Y (t) ��� �	��� � 
��������
supermartingale ��� ��������	 
��� Y (t) ������

P [Zo() ≥ Y (t),∀0 ≤ t ≤ T ] = 1

��� ��� �����
� 3.2 ����	!��
� ��� ������� ����
��� 
�� �������	�
�

{Zo(t), F (t)0 ≤ t ≤ T}

���
{Z(t), F (t)0 ≤ t ≤ T}

������
P [Zo(t) = Z(t)] = 1 ∀t ∈ [0, T ]

������ �
��
Z(u) = Zo(u) P − σ.β.

#$



������ ���	
�� 
�� Po supermartingale {ξ(t), F (t), 0 ≤ t ≤ T} 
� RCLL ��
��� ���
�������� ������� Snell ��� Y () ������ ���� ξ(t) ≥ Y (t) ��� ��� �� t ∈ [0, T ] �� �� ���
��
��� �

ξ(u) = ess sup
τ∈S0,τ

E[Y (τ)/F (u)] σ.β.(1.16)

∀u ∈ S0,T ����
S0,τ = {τ ∈ S0,T , u ≤ τ ≤ T σ.β.}

���
ξ(0) = sup

τ∈S0,τ

Eo[Y (τ)]

�� ��� �� �����������
� ��� ���	 � �������!� 
	��!� ������ " ���������#��
�

�� ���������� ��� 
	����� ������ ��� ����� ��	���� �������� �
��� � ∈ (0, 1) ��� u ∈ S �	�#��
� ��� 
	��� ������

Dλ(u) = inf{t ∈ (u, T ); λZo(t) ≤ Y (t)} ∧ T

��� Su � $�� ��� �� �� ����
��� ��� Y (.) ��� ��� Zo(.) �

{Dλ(u) : 0 ≤ t ≤ T}
����� �� �� ����
�� � $��
� ������ u ∈ S �
��
�

λZo(Dλ(u)) ≤ Y (Dλ(u)) σ.β.

��� ���� � ��������� ��
��� ��� ��� {Dλ(u) = T} ������ �
��
� ��� Zo(T ) = Y (T ) $��
��� %	����� 3.3 ��� 0 < λ < 1

Zo(u)E[Zo(Dλ(u))|F (u)] σ.β.

��� �����	� u ∈ S � Dλ ����� 
� �������� ��� �	�#��
� ��� �	���� 
	��� ������

D∗(u) = lim
λ↑1

Dλ(u) σ.β.

&���� ������ � Y ����� ����
�� ��� ��
��� �

E[sup EY (t)] < +∞
" �
��
� ��� �� D∗(0) ����� ��������� $�� ��� %	����� 3.4 � Y ����� ����
�� ��� ������
�
��
� E[sup Y (t)] < +∞" ���	���
� ��� ∀u ∈ S, � 
	���� ������

D∗(u) = lim
λ↑1

Dλ(u) σ.β.

���
E[Y (D∗(u)/F (u))] = Zo(u) = ess sup

τ∈Su

E[Y (τ)/F (u)] σ.β.

�'



��� D∗(0) ���� ���	�
 �� sup ��
���

Zo = sup E(Y (τ))

�

D∗(u) = inf{t ∈ (u, T ), Zo(t) = Y (t)} ∧ T σ.β.

���� �

��� � ������ ������

τ ∗ = inf{t ∈ [0, T ]; ξ(t) = Y (t)} ∧ T

��������
� ���
ξ(0) = Eo[Y (τ ∗)]

�� ��� ��� ������� 3.7 ��� ��� 	���
�� E(sup Y (t)) < ∞ 
������
��� � Doob Mayer
���
	�� ��	 ����
�	 Snell

Z(.) = M(.) − Λ(.)

���	 � ���������� M() 
���� ��� ���������� �
��
������� RCLL martingale ��� �
Λ()
���� ��� �
 �� �	�
��� ��� �� �����	�� {F (t)} ������������� �
 Λ(0) = 0� !�����
���"�	�

EΛ(T ) < +∞
��� ∫ T

0

I{Zo(t)>Y (t)}dΛ(t) = 0 σ.β.

#�
��� �

���
ξ(.) = M(.) − Λ(.).

!���
��� 
�
��� � �$��� 
���� �
����% � F (T )& �
������� �	���� �
��'
��� ( 
����
�����������"�
�� ��	 ������
� ��� 	����
� ��� martingale ����$��
)� ������	
���� π
��	 �����	 � ��
���� ���
� � 
	��
���� ��������
� ��� ����� X(T ) = B ����
 *

B

So(T )
= ξ(0) +

∫ T

0

1

So(0)
π(u)σ(u)dWo(u) σ.β.

+��,�	�
 ���

M(T ) =
B

So(T )
⇒ B = So(T )M(T )

����
 ���	�
 ���

M(T ) = ξ(0) +

∫ T

0

1

So(0)
π(u)σ(u)dWo(u) (1.17)


�� ���������� 	�� �	����� ���
� ����� ���� �������� ����� '
���	�
 ��� ���	�


E[M(T )|F (t)] = E[ξ(0) +

∫ T

0

1

So(0)
π(u)σ(u)dWo(u)|F (u)]

--



������ � M(t) ���	� martingale ��
	�� ��	������� 
��

E[M(T )|F (t)] = M(t)

������ �
�

M(t) ≤ ξ(0) +

∫ t

0

1

So(0)
π(u)σ(u)dWo(u)

������ ������ �
�

Y (t) ≤ ξ(t) = M(t) − Λ(t) = ξ(0) − Λ(t) +

∫ T

0

1

So(0)
π(u)σ(u)dWo(u)

�	� �
� � Λ ���	� 	�����	 �Λ(0) = 0 �	� Λ(t) > 0 ���
�

Y (t) ≤ ξ(t) ≤ ξ(0) +

∫ T

0

1

So(0)
π(u)σ(u)dWo(u)

�	� ��	 τ = τ ∗

Y (τ ∗) ≤ ξ(0) +

∫ τ∗

0

1

So(0)
π′(u)σ(u)dWo(u) (1.18)

��� 
�� ������ 
�� V ACC(0) ��� ���	� 
� �
����
� γ �
�� ��
� �	 ������� ��	 martingale
�	�	������ �	�
���
���� π′ �	� �	 ������ �

Y (t) ≤ γ +

∫ t

0

1

So(0)
π′(u)σ(u)dWo(u) σ.β. (1.19)

��� 
�� ����� (1.18) 
� γ ≤ ξ(0) �	� �������� V ACC(0) ≤ ξ(0) ��� 	� ������� �����

���� �
�� (1.16) ������

EY (t) ≤ γ + Eo

∫ T

0

1

So(0)
π′(u)σ(u)dWo(u)

���� � ����
�
	
1

So(0)
π′(u)σ(u)dWo(u)

���	� martingale ⇒ EY (t) ≤ γ, ∀τ ∈ S0,T ���
� ������ ξ(o) ≤ γ ���� ���������� �
�
ξ(o) ≤ V ACC(0) ��
	�� 
�
���

V ACC(0) = ξ(o)

���
� 
� � ���	� 
� 	�
��
	!���
��� �	�
���
���� �	� 	�� 
��

Y (t) ≤ ξ(0) +

∫ t

0

1

So(0)
π′(u)σ(u)dWo(u) σ.β.

��	 τ = τ ∗ ������

Y (t) = V ACC(0) +

∫ t∗

0

1

So(0)
π′(u)σ(u)dWo(u) (1.20)

������ � τ ∗ ���	� � "�

��
�� ������ ���� 
	�"���
	� 
� sup ∈ Y (t) �	� γ = V ACC(0)

#$



���������� ��	
� ������� ��	�
� ���
���� ��� 
� � ������� �������������� �� 
�����
�������� �
��

��������� π̂(.) �
� � 
���
���� ���� ��� ��� ����� ������ τ ∗ ! ���� ���� 
�� �������

� �������  ��� �������
 X(τ ∗) = 0 	 " 
���
���� ! ��� ������ � 
��������� 
� ����
���#�� ���
� 
������� �� �� �� �� 
��� ��� ������ ! ������ �
 
�����
������ �� � ��
��� �� −π̂(.) �
� ���� ��� �������
 �
  ��� �������
 −X(τ ∗) = 0. " ������ ������ τ ∗

���
�  �
� $ ������� ������ ������� ��
 ��� 
���
��� ��� 
����������� ����������	

���������� ��

���%�� γ = V ACC(0) �
� π(.) = π̂(.) ���
� �� 
�����
�������� �
���������� ��� ������
�
��� �	� ���� � ��	��� ���%�� �
� ���������
� ��� ��	�&� �� ���� ���
�� ����� τ ���
�
����� ��� � ��� [0, T ]	 '"��� 
���
 �
� 
� � 
���
���� ��� �
�
�(��� ����� ���
� �

���� ��� �� τ �� ��(�� ��� ���������(� ���(� ! � ������� ��� �
�
�(��� �� �������
�
�� �
� �
 ���#��� ! 
� �������������� �� 
�����
�������� �
���������� ��� ������
���
�	)

���������� ���
*����������� ���  ����
 ��� 
��
� ��� 
����������� #��
�(�
��� �� ������� � �



�� �� ��# �	 +����%��  �
 
���������� #��
���
 �
�  �
� ����� s ∈ [0, T ]! � 
���
����
����(���  �
 ���� γ(s) ���
 ,��� � ��������� ���
�
 ��
$���� � ��
 �
 ��$�� ��� 
� ����
���#�� {C(t)−C(s); t ∈ [s, τ ]}. " τ ∈ Ss,T ���
� ������ ������! ���� ����� �
�$���� ��
���� ��� ����
� #�
�
�������% L(τ). � #�
#��
��
 ��� �
� �#����� ���� �� �� ��	���!
�(�
 �#���� ���� ������� ��
 ��� ��������� 
����������� ��� ������

Y (t) −
∫

(0,s]

dC(u)

So(u)
=

∫
(s,t]

dC(u)

So(u)
+

L(t)

So(t)

≤ γ(s)

So(s)
+

∫ t

s

1

So(u)
π′(u)σ(u)dWo(u) σ.β. ∀t ∈ [s, T ]. (1.21)

��
���� ���
 '*��� (C(.), L(.)) �
 ���
�  �
 
���������� #��
���
	 � 
��
 ��� ���
����� s ∈ [0, T ]! ��� ���$���-��
� �� V ACC(s)! ���
� � ��������� F (s)− ��������� ���
�
�
 ���
$���� γ(s) � ���
 (��� � ��	�)� �
 ���%�� 
�� ������ martingale �
����������

������� ��� .�
 s ∈ [0, T ]!  �����

V ACC(s) = So(s)
[
ξ(s) −

∫
(0,s]

1

So(u)
dC(u)

]
(1.22)

���� �� ξ(.) ���
� � ������� Snell ��� 
� ����� Y (.) �
� ��
������� ��	�/�	 *���� ��
� ������ ������

τ ∗
s = inf{t ∈ [s, T ); ξ(t) = Y (t)} ∧ T

��
������� ���
ξ(s) = E[Y (τ ∗

s )|F (s)] σ.β.

��



��� �� �� �������	������
 �����
������ π̂(.) ��� 	��������� ���� � ��
���� ��� ������
������ ������ ��� τ ∗

s

Y (τ ∗
s ) −

∫
(0,s]

dC(u)

So(u)
=

V ACC(s)

So(u)
+

∫ τ∗
s

s

1

So(u)
π̂′(u)σ(u)dWo(u) σ.β. (1.23)

��������� ����������	
�� ��
� ������ �	 t �� �	 ��������	 τ ∈ Ss,T ��� �����	���
��� ������
 ����� ����� � 	���� ��	���

Eo[Y (τ)|F (s)] −
∫

(0,s]

dC(u)

So(u)
≤ γ(s)

So(u)
σ.β.

	���� �����	���

ξ(s) −
∫

(0,s]

dC(u)

So(u)
≤ V ACC(s)

So(u)
σ.β.

��� �
� �������	�
 ������
�� � ���� t ∈ [s, T ] ��� �����
�	
�� ��� ��
� ��� ���

ξ(t) − ξ(s) =

∫ t

s

1

So(u)
π̂′(u)σ(u)dWo(u) − [Λ(t) − Λ(s)].

!"��� ����#� ���
�� Y (t) ≤ ξ(t) ��� Λ(t) − Λ(s) ≥ 0� ��	���

Y (t) −
∫

(0,s]

dC(u)

So(u)
≤ ξ(t) −

∫
(0,s]

dC(u)

So(u)

≤ ξ(s)−
∫

(0,s]

dC(u)

So(u)
+

∫ τ∗
s

s

1

So(u)
π̂′(u)σ(u)dWo(u) σ.β. (1.24)

���� #������ ��� 
 ������ ����	�	������ ��

γ(s)

So(s)
= ξ(s) −

∫
(0,s]

dC(u)

So(u)

��� �
� 	�	��
V ACC(s)

So(u)
≤ ξ(s) −

∫
(0,s]

dC(u)

So(u)
.

����������$���� �	 t �� τ ∗
s ��
� ����%�� &��'(�	��� �
� ����
�� ����#� Y (τ ∗

s ) = ξ(τ ∗
s )

��� Λ(τ ∗
s ) − Λ(s) = 0 ���� �
� )�����
 *�+�

�	
	��
�
� ���
� ��������� ��� ������������ ����� ����� �!���" �� �������	�"��� ��� 	��� ��� ��

�� �����
������ −π̂(.) �� ������� ��� ���
��"� ��� ��
�� τ ∗
s . # �$"���� ���% �"��� �

���!"����� 
�� ���� ��� ���
��"�� �
�� � ��������� 
�� ��� � !������ 	����� �� �����
�������� ������"�� � ��
��� ������ τ ∗

s �"��� ���� &�������� ��
��� ������� ��� Ss,T �

�,



���������� ��	
����� (C(.), L(.)) ��� ��	
��
���� �������� � �� � ���
����� ��� ��������	� ��

	�����	� �
��� 
������ τ = T ���	 � ���� ��� ����������� ��� �
��� s ��� �� ��
������
�������� ���	��� ��� ��� �����

V ECC(s) = So(s)Eo

[∫
(s,T ]

d(C(u)

So(u)
+

L(T )

So(T )
|F (s)

]
, 0 ≤ s ≤ T

� �����

 ��
�	�� ���� ���� ��� ��	
��
����� ��� ���	��� ��� ���  !�""# ��� ��� �����
��� ��
������$ % ����
&	��� �
�� �
����� 
������  early exercise premium #��� 	����

e(s) = V ACC(s) − V ECC(s), 0 ≤ s ≤ T (1.25)

��	��� ∫ T

0

d(C(u)

So(u)
+

L(T )

So(T )
= U(T ) = ξ(T ) = M(T ) − Λ(T )

�����	
e(s)

So(s)
= ξ(s) − Eo[Y (T )|F (s)] = Eo[Λ(T )|F (s)] − Λ(s)

Eo

[∫ T

s

So(u)dΛ(u)

So(u)
|F (s)

]′
0 ≤ s ≤ T (1.26)

�� '�����	 s = 0 ����  !�"(# �����	

e(0) = sup
τ∈S0,T

EoY (τ) − EoY (T )

��� �� )������� *	�������� '	�
��� �����	 ��� �� � ���

���� ��� ���
���� 	����
Po − martingale ���	 e(0) = 0% ������

EoY (T ) = sup
τ∈S0,T

EoY (τ)

��� ���	 � ���� 
������ τ = T 	���� � +������� ��� ��� �
���� ��� ��	
��
�����
������������

��



���������� ��	
�� �������	 �
���
��� 
������ �
���	����
� �	 
���
����������
��� ��� �
��
��� ��	 ��� 
������
� 	���������� ���	��

Z(0) := sup
τ∈S

EY (τ) (1.27)

���� 
��

� ��	��� �	� 	�	��	��� 
������� ��	 ��� ��	��� 
��� ������ 
��
�� τ∗ ���
�	 
��	� �����
���

�������� ��	 0 < Z(0) < ∞ 
�	 
����
�
���
�� ��� �������� ��
��� ��
 Snell
��� Y (.)� ��
 �������� ��� �	
������ ���	� �
���� �� ��	����� ��	� (RCLL)�supermarti−
ngale ��
 

�	����� ��� Y (.). ����� ������ ������ τ∗ ����	  ���	���� �� 
�	 ���� �� �
����	��

{Zo(t ∧ τ∗), F (t); 0 ≤ t ≤ T}
����	 martingale 
�	

Zo(τ∗) = Y (τ∗) σ.β.

��	����� �	����
�� �	� 	��
������ �
�!�
� �	� �� ��������
�� ��� ������ ����
 ���	���
 �����
 ������

E[ sup
0≤t≤T

Y (t)] < ∞.


�� ��� ������ � ������ ������

D∗ = inf{t ∈ [0, T ]; Zo(t) = Y (t)}

������ �� �����	���� ��	 ����	  ���	����" #�����
�� ��� ��
��� Snell �� �	����� �	��
martingale 
�	 �	�� �� �!���
��� ����	��� 
�	 ����	����	���� �
��� ��� ����
�� �	�
�� ����
������
��  ���	���
� �����
� ������" $����
�� �
��� �	� �
����� ���� �����

Z(u) = ess sup
τ∈Su

E[Y (τ)|F (u)], u ∈ S. (1.28)

��
 ���
����	 ��	 EZ(u) < ∞ �	� ��� �� u ∈ S. % �
���� ���� ���� Z(u) ����	 �
 ���	��� 
�� �
�!�
� ���� �
������ �	� �����
� ������ ��� u 
�	 �������� " #
���
�����	
�����	 ��	 �	� ����������� ��� ����	��� {Z(t); F (t), 0 ≤ t ≤ T} ����	 �

{Zo(t); F (t), 0 ≤ t ≤ T}

������ 	����	 ��	

P [Zo(t) = Z(t)] = 1

�	� ��� �� t ∈ [0, T ] ����	� &��� �	� 
�!� u ∈ S ���
��

Z(u) = Zo(u), P − σ.β. (1.29)

'(



� ����� ����	
 ��
����� �
 �����
 Snell ��� Y (.). ��� �
 ����������� �������� �������

 �����
� �
� Snell ��� Y (.) ������� ��� �� �����

ξ(t) = sup
τ∈St,T

E(Y (τ)/F (t)) = exp−rt p(T − t, S(t))). (1.30)

��� �� ��
�
 ��
��� ��� �!�� ���� "���������
# ���������
� �������  �� ���
���
�$ �� ���$ ������� q > 0% &��
���% ������%

C(.) ≡ 0

���
L(t) = (q − S(t))+


���� � ��������� ��
������$� �����

Y (t) =
(q − S(t))+

So(t)
(1.31)

'(��� ��� �������
��� �� V AP (t; T ) ��� �!�� �
� ����������
# ���������
� �������
 �� ����������
� 
��)
��� ����
� �$!�� ��
 ����
 t ∈ [0, T ]. '"�� ��
���

V AP (t; T )

So(t)
= ess sup

τ∈St,T

Eo[Y (τ)|F (t)], 0 ≤ t ≤ T (1.32)

��
� St,T ����� �
 �#�
�
 ��� {F (t)}−������ ������ �� ����� ��
 [t, T ]. (����� �

S(t) exp{δ − r)t} = S(0) exp
{∫ t

0

σ(u)dWo(u) −
∫ t

0

(1

2
σ2(u) + δ(u)

)
du

}
, 0 ≤ t ≤ T

����� ��� �� �������$ Po − martingale ��� �
 *������
 ��� ������ &������ ����� ���

V AP (t; T ) = So(t)ess sup
τ∈St,T

Eo

[( q

So(τ)
− S(τ)

So(τ)

)+

|F (t)
]
≤

≤ So(t)ess sup
τ∈St,T

Eo

[ S(τ)

So(τ)
|F (t)

]
≤ S(t), 0 ≤ t ≤ T

+���
#�� ��� ��
��� σ > 0, δ > 0, r > 0 ���&���� ��� � ���$ ��� ���
�$� �������
��� �� �����

S(t) = S(0)H(t)

��
�

H(t) = exp{σWt + (r − δ − σ2

2
)t}

���
Y (t) = exp{−rt(q − S(t))+}, t ∈ (0, T ]


���� � �!�� �
� ���������
�  �� S(0) = x, �#����� �� �
 &������ ����
 �����

p(T, x) = sup
τ∈S0,T

Eo

[
exp(−rτ)

(
q − xH(τ)

)+
]

�,



�������� �

�������� ���	
�	�� ���
���

�������� �� ��	
���
 
�������������� ��� ���	���
� e−rtS(t) ���� �� ��	�� T �
�
��������

p(T, x) = sup
τ∈S0,T

Eo

[
exp(−rτ)

(
q − xH(τ)

)+
]

� 
�
�������� ���� �
�
����
� �� ���� �� ����� ���
�	���
� P ���� 
�	 �� ����� �
���� 
���������� e(δ−r)tS(t) ���
� martingale. �
 �������� 	�� ������� ��
 ������ c(τ)
	��� ��
������ �� ���
���
 ��� ����� ���� ��� � ���� ��� �������   ������!! ���� 
�	
�� 
������� ������ ��� ��	�� t = T − τ " #��������� 	�� ��� �� P � ���� ��� �������
S(t) ��
������� ��� ����
����� ��
������ ������� $

dSt = σStdWt + (r − δ)Stdt

	��� {Wt; t ≥ 0} ���
� � ������ ������ Brown �
� ��	��

S(t) = S(0) exp{σWt + (r − δ − σ2

2
)t}

������� ��� ������� ��	 
	� ��
 ��
������ p(T, x) 	�����
 �	 �������� �����	�
(i) � ���	��
	�� T 
→ p(T, x) ��
�	 �� ���
����
(ii)� ���	��
	�� x 
→ p(T, x) ��
�	 �� ������� ��	 �����
(iii) � ���	��
	�� x 
→ x + p(T, x) ��
�	 �� ���
���� ��	 ������ ��	����

(iv) ∀(T, x) ∈ (0,∞)2 ������ 0 < p(T, x) < q

��������$ #�
 ��� 
�	����� ��� i), ii)%������ &��������� 	�� ������
p(T, x) = supτ∈S(0,T ) Eo[exp(−rτ)(q−xH(τ))+] �
������� 	�� � 
����	���� T 
→ p(T, x)

���
� �� �������
% �
� x 
→ p(T, x) ���
� �� 
�����
 �
� ����� "

'(



iii) ������ ����	� 
�� 0 ≤ x < y < ∞ �
� ������������
�� 
�� ����� �
���� 
�� �	��
����
�� ��� �����	

p(T, y) − p(T, x) =

= p(T, y) − Eo

[
exp(−rτx)(q − xH(τx))

+
]

≥ Eo

[
exp(−rτx)

{
(q − yH(τx))

+ − (q − xH(τx))
+
}]

≥ Eo

[
exp(−rτx)

{
(q − yH(τx) − q + xH(τx))

+
}]

≥ Eo

[
exp(−rτx)

{
(xH(τx) − yH(τx))

}]
≥ (x − y)Eo

[
exp(−rτx)H(τx)

]
≥ (x − y).

� 
	�	�
��� �����
�
� ����	� �	������� �
� �����	 
�� exp(−rt)H(t) 	���� supermarti−
ngale ��� H(0) = 1.  !�� "�����	 �
�

p(T, y) − p(T, x) ≥ x − y

���
	 � p(T, x) 	���� �� #������� �� ���� x, 	�� 	�	��� � x 
→ (q − x)+ ���
� ��� 
�
sup ���
�� �����
��	�� 	���� ���
� 
�
	 ��� � p(T, x) �� 	���� ���
� �

iv) � ����� p(T, x) ≤ q 	���� ���#���� 	�	��� exp{−rτ}(q − xH(τ))+ ≤ q.  !��
p(T, x) ≤ q. ������ p(T, 0) = q$ 	�	��� p(T, x) = q ���
	 �����	� ��� ��������� ������
�
���� τn 
�
��� ��
	 E[exp{−rτn}(q−xH(τn))+] = q$ 	�	��� (q−xH(τn))+ ≤ q� %���	�
τn → 0 σ.β. ��� H(τn) → 0 σ.β. &�
	 (q−x)+ = q ⇒ x = 0  !�� p(T, x) = q ⇔ x = 0
'�� �� ����	�(���	 
� 0 < p(T, x) ����������	 
�� 	(�� �����������
 )
�� ����	�

0 < x < q

��������	
p(T, x) ≥ (q − x)+ > 0

	�� �
��
x ≥ q

���*���	 
�� ����� �
����

τ = T ∧ inf{t ≥ 0; xH(t) ≤ q

2
}

��� ����
�����	 �
� +

p(T, x) ≥ Eo[exp(−rτ)(q − xH(τ))+]

,-



≥ q

2
Eo[exp(−rτ)I{τ<T}]

≥ q

2
exp{−rT}P (τ < T ) > 0

���� ������ 	
���

 ��� 0 < p(T, x) < q.
�

������� ��� � �������� �	�
�	�
�	� �
	������ ��������
�� p : [0,∞)2 → [0,∞)
��	�� �
	���� ��� �
������� ��� �� ���������� ������� ��
 ������
���� ��
 �������� ���
��	

ϕ(x) = (q − x)+, 0 ≤ x < ∞.

������ ������ ��� p(t, x) ≥ (q − x)+

	
���
���
i) ��� �� ���	
����

 ��� � p(t, x) 
���� ���
��� �� ���� x� �
����

 �� (T, x) ∈

[0,∞)2 ��� ��� ����� ������

τx = inf{t ∈ [0, T ] : p(T − t, S(t)) = (q − S(t))+}
��� �
���
����  ! 
"�
�	� ����
� ��� z+

1 − z+
2 ≤ (z1 − z2)

+,∀z1, z2 ∈ R ����

 ∀y ∈ [0,∞) ����

p(T, x) − p(T, y) ≤ Eo[exp(−rτx)(q − xH(τx))
+] − Eo[exp(−rτx)(q − yH(τx))

+] ≤

≤ Eo exp(−rτx)[(q − xH(τx))
+ − (q − yH(τx))

+]

≤ Eo exp(−rτx)[(q − xH(τx) − q + yH(τx))
+]

≤ Eo exp(−rτx)[((y − x)H(τx))
+]

≤ (y − x)+Eo[exp(−rτx)H(τx))]

≤ |x − y|
� �
�
����� ��������� ����
� 
�
�	� #����$��

 ��� � exp(−rt)H(t)) 
���� Po−supermartingale
��� H(0) = 1! "�� �%�� 
��������

 �� x ��� y� ����

 p(T, y) − p(T, x) ≤ |x − y|
����
�

|p(T, y) − p(T, x)| ≤ |x − y|
��� � p(T, x) 
���� Lipschitz ���
��� �� ���� �� x
ii) ��� �� ���	
����

 ��� � p(t, x) 
���� �
���
��&� ���
��� ��� '� ���$��

 ��� ��(
�������

Ψ(t) = Eo[max
0≤s≤t

(1 − exp(−rs)H(s))+]

#�� ��� ����� ��� �� �
%��
� &��#

��� ��#������ ����

 ���

lim
t→0

Ψ(t) = 0.

) 



����� 0 ≤ T1 ≤ T2 ��� x ∈ [0,∞) �	�
��
�� ����
��	 �
�� ���

�� ������

τ2 = inf{t ∈ [0, T2); p(T2 − t, xH(t)) = (q − xH(t))+} ∧ T2

���
τ1 = τ2 ∧ T1

���	 �	 S(t) = xH(t) ��
��	

0 ≤ p(T2, x) − p(τ1, x) ≤ Eo[exp(−rτ2)(q − S(τ2))
+] −Eo[exp(−rτ1)(q − S(τ1))

+]

≤ Eo[exp(−rτ2(q − S(τ2))
+ − exp(−rτ1)(q − S(τ1))

+]

≤ Eo[exp(−rτ2)q−exp(−rτ2)S(τ2))−exp(−rτ1)q+exp(−rτ1)S(τ1))]

≤ Eo[exp(−rτ1)S(τ1))−exp(−rτ2)S(τ2))] (2.1).

����� ����	�

exp(−rτ2)S(τ2) ≥ exp(−rτ2) exp(−r(τ1 − τ2))S(τ2) exp(r(τ1 − τ2)) =

= exp(−rτ1)Eo[S(τ1) \ F (τ1)]


���	 − exp(−rτ2)S(τ2) ≤ − exp(−rτ1)Eo[S(τ1) \ F (τ1)]
����� τ1 = τ2 ∧ T1 ��� τ2 = t ∧ T1

������

− exp(−rτ1)S(τ1)−exp(−rτ1)Eo[S(τ1)|F (τ1)] =

= exp(−rτ1)S(τ1) − exp(−rτ1)Eo[S(τ1)IS(t)>H(T1−t)]|F (τ1)]

���� ��� ��
 �	�	����� ����� � ��� ! ����
	� ��
 �������� �
�"�

0 ≤ p(T2, x) − p(τ1, x) ≤

≤ Eo[exp(−rτ1)S(τ1)Eo[(1− min
T1≤t≤T2

exp{σ(Wo(t)−W (T1))−(δ+
s2

2
)(t−T1)})+|F (T1)]]

= Eo{exp(−rτ1)S(τ1)}Eo[ max
T1≤t≤T2

exp{σ(Wo(t)−W (T1))−(δ+
s2

2
)(t−T1)})+|F (T1)]]

= Eo{exp(−rτ1)S(τ1)Ψ(T1−T2) ≤ S(0)Ψ(T1−T2) =

= xΨ(T1−T2)

���� � ��
������ p(t, x) 	�
�� 
�
���
�"� ��
���� �� ��
� T � ������

 	�	��� ��
�
��	
��
�� 
� ���
��	 τ ≡ 0 ���
 ����� p(T, x) = supτ∈S(0,T ) Eo[exp(−rτ)(q − xH(τ))+] #�

��
������ p(T, x) �������	� ��� ϕ ������ p(T, x) ≥ (q − x)+ = ϕ(x). �

$�



�� ��� ������ ��	��
�����
�� ��� ��� ���� ��� p(t, x) 
��� ������
���� �����
T � �� ��
������ ���� ��� �� �����
���� �� 
������
��� ��� 
������
�� 
�� T = ∞�
�� 	������� ���� ����� ���� �������� ���	������
 �������� 
������ !Perpetual
American Put" ��� �������� �� �����
���� ����������� 	������� ����� ���� �� �����
�	��
���� #���� ��	��
���� ����� � $����
�� �������� �
��
�� ��� 	�� ����� ���
����
��� ����� ���� ����	� ���� � �������� ������ �� ������
��� �� ����$���� �� ����������
������ � ������� ���� ���� S(t) ��� 	������ ��� ���

dS(t) = σS(t)dWt + (r − δ)S(t)dt

%�� ���� ��� ���� ��� ������������ 	�������� 	����&����� �&��
�� 
� ���
������ !
��$��� ���� �� V AP (s,∞) "� �� ����� � �����
�� ������ ����$���� γ(s)� �
����� ����� F T (s)− �����
��� ��� T ∈ [s,∞) ��� ��� ��� ����� ������� �� martingale
�����
������ π(.) ��� ���������� ���

exp{−rt}(q−S(t))+ ≤ exp{−rs}γ(s)+

∫ t

s

exp{−ru}π′(u)σ(u)dWo(u), σ.β. s ≤ t < ∞

�� 	������� ����������� 	������� �&��
�� ����&��� q − S(t) �� �
����� 
��
����� t����� �������� ��� �
������� ��� ����� % ������� ��� ������ �� �� �
��
��

� �����	����� ������ '����������� 	�� ������� ���������� ����� ���� ��� ����� 	��
������ ����� �� �
������ ���� ����� ����� ���� ������� �	����� ����� ����� ������ ��
����������� ��� � �������� �
��
�� �� ��������� ���� ��� ��� ���� S(t) ��� ��� ��� ���
����$���� t� ( ���� ��� 	����&����� 	������ ��� �� 
��
�

p(x) = sup
τ

E0[exp{−rτ(q − S(τ)+}]

���� x = S(0) ����� � ������ ���� ��� �������� ( �	�� ��
� ��� ��� ���
�� ��� ����� ���
� ������� ��� ������ ������ �� �������� ��� ����� �
��
�� ���� 	�� ����� ������������
�� ������
�� ���� �� �� �
��
��� ( ���������� �����������
� ����� ��� ����
��
��
����� ��� � ������ τ ������ ����� �� ����� ������ 
��
���

�	
���� ��� ����� � W (t) � ������ Brown 	
� �� 
���� 
���������� P ��� 
∈ R ���
m > 0. �����	
� ��� S(t) = µt + W (t) ��� �� ������

τm = min{t ≥ 0, S(t) = m}


�	 ����� ������ ������� �� � S(t) ��� ����� 
��� ��� 
� m ���� ������ τm = ∞ ���

E exp{−λτm} = exp{−m(−µ +
√

µ2 + 2λ)}

��� ��� �� λ > 0.

))



��������� �������� 	� σ = −µ +
√

µ2 + 2λ 
�� 	
	��� ��	� σ > 0��
���

σµ +
1

2
σ2 = −µ2 + µ

√
µ2 + 2λ +

1

2
(−µ +

√
µ2 + 2λ)2 =

= −µ2 + µ
√

µ2 + 2λ +
1

2
µ2 − µ

√
µ2 + 2λ +

1

2
µ2 + λ =

= λ

���	�

exp{σS(t) − λt} = exp{σµt + σW (t) − σµt − 1

2
σ2t} = exp{σW (t) − 1

2
σ2t}

��� ����� martingale. ��� 	� �
�	��	� ������	�
� ������� ������ �	� �

M(t) = exp{σW (t ∧ τm) − 1

2
σ2(t ∧ τm)}

����� ������ martingale.
������� ��� 
��� n > 0 �

���� ������ �	�

1 = M(0) = EM(n) = E[exp{σS(n ∧ τm) − λ(n ∧ τm)}] =

= E[exp{σm − λτm}I{τm≤n}] + E[exp{σS(n) − λn}I{τm>n}]. (2.2)

�� �� ����	�

� ��	����	
� exp{σm−λτm}I{τm≤n} �� ����� !� ���� n 
�� 	� ���� 	���
����� exp{σm − λτm}I{τm<∞}
"����#

0 ≤ exp{σm − λτm}I{τm≤1} ≤ exp{σm − λτm}I{τm≤2} ≤ ... σ.β.


��
lim

n→∞
exp{σm − λτm}I{τm≤n} = exp{σm − λτm}I{τm<∞} σ.β.

��� $������ %���	���� ���
�����

lim
n→∞

E exp{σm − λτm}I{τm≤n} = exp{σm − λτm}I{τm<∞} σ.β. (2.3)

�
��� �����# S(n) ≤ m ��� n < τm 
�� σ > 0�� exp{σS(n)− λn}I{τm>n} �
�������� 	��

0 ≤ exp{σS(n) − λn}I{τm>n} ≤ exp{σm − λn} ≤ exp{σm} σ.β.

&����
�� �����# λ > 0 
�����

lim
n→∞

exp{σS(n) − λn}I{τm>n} ≤ lim
n→∞

exp{σm − λn} = 0

���'!�� �� 	� $������ (��������
��� ���
����� ������

lim
n→∞

E[exp{σS(n)−µn}I{τm>n}] = 0 (2.4)

)*



����� �� ���	
�� ���	 
��� ����� ��� ���
��	�	������ ��� ����� ��� ��� 
��
�

1 = E[exp{σm − λτm}I{τm<∞}]

��	
�� ���

E[exp{−λτm}I{τm<∞}] = exp{−σm} = exp{−m(−µ +
√

µ2 + 2λ)} (2.5)

��� ��� ��� �� λ > 0 
�	 τm = ∞ ��	
�� exp{−λτm} = 0. ���� E[exp{−λτm}] =
exp{−σm}. �
���
��	�	��
��� 
��� ��� � ��� �	 λ > 0! ��"� �� ���	
�� �	 λ ↓ 0 ���� 	� exp{−λτm}I{τm}
�#��� �� ��������� �
��#�� ����$����� ��� �
%��	
� 
�	 I{τm<∞} ��&�� λ ↓ 0 	���� �	
'������ (
����������� 
)����
�� ��� ��������� �� ������%	
�� 
�	 

�����
�� ���

E[I{τm<∞}] = lim
λ↓0

exp{−m(−µ +
√

µ2 + 2λ)} = exp{mµ − m|µ|}

*�	&��	
�� ��� 	 ���	�	� �	
 +�����	)� ����������	) +��������	� ����
��
��&	�#,�� ��� &����� ��#��+	 c < q ��� �	 ���$���� ����)���� 
�	� ����	 ����	 �	
 �
���� ��� ���	��� --��.��#// 
��� ���� c� �� � ������ ���� ��� ���	��� �#��� ��������� �
#
� �	
 c ���� �	 +���#"�� �
��#��� ���
"��0��� � ���� �	
 �#���

p(S(0)) = q − S(0)

�� � ������ ���� ��� ���	��� �#��� ���" ��� �	 c !���� �
��#��� 
�	 ����	 
��
��

τc = min{t ≥ 0, S(t) = c}.

1�	� ����	 �
��
�� ! �	 +���#"�� ��������

q − S(τc) = q − c.

��	������	���� �	 +���#"�� ��� ��#��	���� ��
�� �����! 
�	�	�#,	
�� ��� � �%#� �	

+��������	� ����
�� 
)�."�� �� ��� �������" 
��������� �
��
�� �#���

pc(S(0) = (q − c)E[exp{−rτc}] ∀S(0) ≥ c (2.6)

� 



������� ��	
������� ��	 σ() ≡ σ > 0, δ() ≡ δ ≥ 0, r() ≡ r > 0 
�	 ��
 ��
������ ��� �	�
�
���
����	
�
	
�� �	
�	������ ������� ��� ��
���	 ��� ��
 �����

pc(x) =

⎧⎨
⎩

q − x, 0 ≤ x ≤ c

(q − c)(x
c
)γ̄, x ≥ c

(2.7)

�����

γ̄ = − 1

σ
[ν +

√
ν2 + 2r],

ν =
r − δ

σ
− 1

2
σ και c = c∞ =

γ̄q

γ̄ − 1
< q.

��	����


p(S(0)) = sup
τ

Eo[exp{−rτ(q − S(τ))+}] (2.8)

���� �� supremum �����
���	 ��
� �� ����� ���� ���
��� τ ��� 	
�
���	��
 ��

τ ≤ t ∈ F (T )(t) 
�	 ��	�����
���	 
��� ��
 ������ ���
� �

τc = inf{t ≥ 0; S(t) ≤ c}


��
����� ������� �� 	
� �
�	���
� ����� ��
 ����� ������������ 	�

Eo exp(−rτc) = exp[νy − |y|
√

ν2 + 2r] = (
S(0)

c
)γ̄

�	�� S(0) > c ����

y =
1

σ
log(

c

S(0)
) < 0.

�� γ̄ ���� � ��� 	 � �
�	�� ���!� 
������
�� 	 � � 1
2
σ2γ2 + σνγ − r = 0. "�
��#��

#$���� �	
 �

γ̄ < 0, γ̄ <
r

r − δ
��


γ̄ = −2r

σ

1√
ν2 + 2r − ν

= −2r

σ

1√
( r+δ

σ
+ σ

2
)2 − 4rδ

σ
− ν

= −2r

σ

1√
( r−δ

σ
+ σ

2
)2 + 2δ − ν

��� 
�$��
 ���
%&  ����	 	� r − δ ��
	
#��	�
 �� ����
 �
� 	
�&�
'
� 	 � ����
	 � p 
�$��
 �	
 ����
 ��
	&( ��&��
 �	� C1((0,∞))∩C2((0,∞) \ {c}) ��


������
�� 	� �)&� �

1

2
σ2x2p′′(x) + (r − δ)xp′(x) − rp(x) = δx − rq < 0, 0 ≤ x < c (2.9.a)

!*



1

2
σ2x2p′′(x) + (r − δ)xp′(x) − rp(x) = 0, x > c (2.9.b)

p(x) = (q − x)+, 0 ≤ x < c (2.9.c)

p(x) > (q − x)+, x > c (2.9.d)

�� �������� �	
���� �
��� ����� ���
���� ��� ������� ��� ���������� p. ������������
��� ������ ��� Ito ��� ����
� ����������� 
	����

d[e−rtp(S(t))] = −r exp{−rt}p(S(t))dt+exp{−rt}dp(S(t)) =

= e−rt(
1

2
σ2S(t)2p′′(S(t))+(r−δ)S(t)p′(S(t))−rp(S(t)))dt+e−rtσS(t)p′(S(t))dWo(t)

= −e−rt(δS(t) − rq)I{S(t)<c}dt + e−rtσS(t)p′(S(t))dWot =

= e−rtS(t)p′(S(t))σdWo(t) − e−rt(δS(t) − rq)I{S(t)>c}dt =

= dM(t) − dΛ(t)

����

M(t) =

∫ t

0

e−ruS(u)p′(S(u))σdWo(u)

���

Λ(t) =

∫ t

o

e−rt(qr − δS(u))I{S(u)<c}dt.

������ � p′ �
��� �����
��� � ��������
� M(t) �
��� ��� Po − martingale���� � Λ� ��� ���
���� ���� ��
����� ��� �
��� �� ��
����� ���� ��	��� (qr−δS(u))1{S(u)<c} ≥ (qr−δc) > 0
����
 γ̄(r − δ) < r. ������ ������

p(x) = (q − x)+, 0 ≤ x < c

���
p(x) > (q − x)+, x > c,

��� ���� ��	�
� 	���� ��� ���������
 ���

{τ ≤ t} ∈ F (T )(t),∀t ∈ (0,∞)


	���� ���

p(S(0)) = Eo[e
−r(τ∧t)p(S(τ ∧ t))] + E[Λ(τ ∧ t)]

≥ Eo[e
−r(τ∧t)(q − S(τ ∧ t))+] (2.10).

���� 
��
[exp{−r(τ ∧ t)}(q − S(τ ∧ t))+] ≤ q.

!��� ��� �� "������ #����
��� ���� ���� ��� �� ���
	��� ��� S

lim Eo[exp{−r(τ ∧ t)}(q − S(τ ∧ t))+] = Eo[exp{−rt}(q − Sτ )
+; τ < ∞]

$%



����� ������

p(S(0)) ≥ Eo[I{τ<+∞}e−rt(q−S(τ))+] = EoY (T ). (2.11)

∀ ���	
� ����� τ ��� 
�	����
�
 ��� {T ≤ t} ∈ F (T )(t).
������ ���	� ��
 τ = τc ���� Λ(τc) = 0 �	


p(S(τc)) = p(c) = (q − c)+ = (q − S(τc))
+ σ.β.

��� τc < +∞ ����

p(S(0)) = Eo[I{τc≤t}e−rτc(q−S(τc))
+]+Eo[I{τc > t}e−rtp(S(t))] (2.12)

	��� ����
����� ��


Eo[I{τc>t}e−rtp(x)] ≤ Eoe
−rtq = S(0)e−δt → 0 για t → +∞

�������� 	� ������� ��
� ���� ������� �
	 t → +∞ ������

p(S(0)) = Eo[I{τc<+∞}e−rτc(q − S(τc))
+] = Eo[Y (τc)].

� ��� � ������� �! ��
���"� #
��
 ��
 p(S(0)) = supτ Eo[e
−rt(q−S(τ))+] ����� 	��#�
!	��

��
 �
	 τ = τc �	�$������ �� supremum ����

p(S(0)) = sup
τ

Eo[exp−rτ(q − S(τ))+]

��� �
	 ������� ��� 	��
��

p(S(0)) = lim
T→∞

Eo[e
−r(τc∧T )(q−S(τc∧T ))+] (2.13) �

%��� &���	�� ��� 	�����'�
 '	 	��#�
!���� �� ����� 	�����	 ���� 	!
	 ��� (��)
�
�	�
��" #
�	
��	��� �����	������ ������ �	
 ��� 	!
	� ��� #
�����"� ��
� �� ���
���
(���� '	 #�"�� ��
 ��	� T → ∞, ���� �
 #�� 	���� 	!
�� �
����	
 
����

������� ��	 ������� ��	 
� ����

��� p(T, x) ��� �
���
	� �
�� ����� �	� ��	 
��
����

��� p(x) ��� �
���
	� 	�� 
�� ����� �
�

p(T, x) ≤ p(x) ∀T ∈ [0,∞), x ∈ [0,∞)

�	� 	���� ������

lim
T→∞

p(T, x) = p(x)

*+



������������ x = 0 �� �������	 ���
��� ���
�������� ���

p(T, 0) = q = p(0)

��� ��� �� T ∈ [0,∞). ��� ��� x ∈ (0,∞) � 
��
� ������ �� 
���� ���

p(T, x) ≤ p(x)

��� ��� �� T ∈ [0,∞) ���� � ���!� 
������ ���

p(x) ≤ limT→∞p(T, x).

"���� ������ ���������
p(x) = lim

T→∞
p(T, x)

�

"��#���� ��� ������$ 
������� �

C = {(T, x) ∈ (0,∞)2, p(T, x) > (q − x)+}
���

CT = {x ∈ (0,∞), p(T, x) > (q − x)+}T ∈ (0,∞)

����
$ � p ����� 
����$ ������ ��� �� 
����� C ����� ������� 
�� (0,∞)2 ��� ��%�

����� CT ����� ������� 
�� (0,∞)�

&� 
��'���� ������ �
������ ��� ��� 
������
� ��� ����%���� 
������ c(t)

�	�
��� 
�� ��� ���� T ∈ (0,∞) ���	
�� ���
 �	����
 c(T ) ∈ (0, q) ������ ����
CT = (c(T ),∞)� � ����	���� T 
→ c(T ) ����� �� �������� ��� �������
�
 ��� �	����	�
����
�
 ��� (0,∞)� �������� ���	���� �� �	������ ��� c(0+) = limT→0 c(T ), c(∞) =
lim c(T ) ����
 �� T → ∞, �
���� ��� c(0+) ≤ q ��� c(∞) = c ��� c = γ̃q

γ̃−1
< q

���������
("�	 
��'��� 
��� )����
� ��� ����� ������

p(T, y) ≥ p(T, x) + x − y

����
$* �����* �
���� � 
��
� p(T, x) > (q − x)+, x ∈ CT ������

p(T, y) > (q − x)+ + x − y ≥ q − y

�+



���� �� p(T, y) > 0 ��� p(T, y) > (q − y)+ �	��
 y ∈ CT � �
���� �� CT ����
���

CT = (c(T ),∞)

��� �� �	��
�����
 ��� c(t) �������� ��� ��� �������
 ��� q ����������
 �
� 
���
����������� �	
��� 
 �	
������
 T 
→ p(T, x) 
���� ������� �� ����
� ��� ∀ε > 0, δ > 0,

p(T + ε, c(T ) + δ) ≥ p(T, c(T ) + δ) > (q − c(T ) − δ)+

�	��
 �����
 ���
c(T + ε) < c(T ) + δ.

 !��� �� δ 	�� �� �����
 
	����
� �
���� ��� ������
��� ��� ��
�
� ��
� ����


c(T + ε) ≤ c(T )

�	� �
� �	��� ���	
�������
 ��� 
 c(T ) 
���� ���������
�	��
� ���"���
 �
� ��������� {Tn}∞n=1. ��� �����
�� (0,∞), 
 �	��� ��
� ���� To ∈
(0,∞) ��� ��� �
� �	��� ����
� ���

lim
n→∞

c(Tn) = co.

�	
��� �� ������ C 
���� ������� ��� �� (Tn, c(Tn)) �
� ����
� ��� � ���� ��� ���
 n�
����
� ��� (To, co) �
� ����
� ��� C ��� 
	��
��� co ≤ c(To)
#
���� �����
 ��

limT→Toc(T ) ≤ c(To), ∀To ∈ (0,∞).

 $�� 
 c(.) 
���� ��� 
�����
��� ��� 
	
��� 
���� ��� �������� ������ �� �����


c(T−) = c(T )0 < p(T, x) < q

���
p(T, x) > 0 = (q − x)+, για x ≥ q

!	��

c(T ) < q

��� ��� �� T ∈ (0,∞) ���
c(0+) ≤ q.

$	� �
� %�����
 2.2� 
	��
� �����
 ���

p(T, x) ≤ p(x), (q − c)+ ≤ p(T, c) ≤ p(c) = (q − c)+

�
����
c(T ) ≥ c

&'



��� ��� T ∈ (0,∞) ���
c(∞) ≥ c.

���	
 ��� x > c, ���
��
lim T→∞p(T, x) = p(x)

��� ��������� T ��������� ������ ������ ����

p(T, x) > (q − x)+

��� x > c(T ) ��� ��������� ������ T � ���
 �� x > c ����� ������ ������

c(∞) ≤ c

������ ������
c(T ) ≥ c(∞) = c > 0

��� ��� �� T ∈ (0,∞).
�

������� ��� � ���� ��� ���	
���
��
 �
��
������ ������� ��� ������
 ��� ���

p(T, x) = sup
τ∈S0,T

Eo

[
exp(−rτ)

(
q − xH(τ)

)+
]
, 0 ≤ x < ∞, 0 ≤ T < ∞ (0.3)

����
 � �����
�� �
�� ���� ��� ���
��� �
���� C̄ ��� �	��������� �	�
��� ��
 �����
	
���� �
����

Lf = 0 στo C = {(t, x) ∈ ((0,∞))2, x > c(t)} (2.14)

f(t, c(t)) = q − c(t) 0 ≤ t < +∞ (2.15)

f(0, x) = (q − x)+ c(0+) ≤ x < +∞ (2.16)

lim
x→+∞

max
0≤t≤T

| f(t, x) |= 0 ∀T ∈ (0,∞) (2.17)

����� � Lf = 1
2
σ2x2fxx + (r − δ)xfx − rf − ft ��
 ��
����� �
 ����	����
� pxx, px, pt

���	���� ��
 ����
 �������� ��� C�

	
���
��� i) ����	 ��� ��������� ��� ������  t!x" ∈ C � ����#$ �� �
���� C �����
������� �����
�� �� %�	�$����� ��� ������� ��%������

R = (x1, x2) × (t1, t2) µε (t, x) ∈ R ⊂ C

��� ���� ��
∂oR = ∂R\[{t2} × (x1, x2)]

&'



����� �� ����	�
��� 
����� ��� ����������� �������� �� ���	
��� ������� ��� 
����
������ �����

Lf = 0, (t, x) ∈ R

f(t, x) = p(t, x), (t, x) ∈ ∂oR

������ �
���� ��� x1 ≥ c(t) > 0, ��� ��� �
�

��� ������ ��� ��� ����	�
���� ���
�
���
������ ������ ���� ��������� 
�
�� f �� fxx  fx ��� ft �� ����� 
��������
!����� �� �������� ��� f ��� p 
��"����� 
�� R� # �
�� ��� $to xo% ∈ R ��� ��������
��� ����� 
�&
�� 
�� S0,to−t1 ��� ������� ���

τ = inf{θ ∈ |[0, to − t1]; (to − θ, xoH(θ)) ∈ ∂oR} ∧ (to − t1)

���
�� �������� ��� ���
���

N(θ) = exp (−rθ)f(to − θ, xoH(θ)) για0 ≤ θ ≤ to − t1

'�� ��� ���� ��� Ito ������ ��� N(. ∧ τ) ����� ��� "������� Po � martingale ����� (

f(to, xo) = N(0) = EoN(τ) = Eo[exp (−rτ)p(to − τ, xoH(τ))] = p(to, xo).

������ $to�τ  xoH $τ%) ∈ C ��������� ���

τ ≤ τx = inf{{θ ∈ [0, to), p(to − θ, xoH(θ)) = (q − xoH(θ))+} ∧ to

��
��� �� τ ����� &�� "������� ��� ��� ����� ����� ������ ��� $ to�θ xoH$θ)) 
�� C �
����
��� � f ���������� ��� Lf = 0 
�� C ����� ��� �� 	�
��
�� ���������� �������
��� ��� 
��
�

{exp−r(t ∧ τx)p(T − (t ∧ τx), S(t ∧ τx)), F (t), 0 ≤ t ≤ T}

��� ����� Po − martingale ������ ���

Eo[exp (−rτ)p(to − τ, xoH(τ))] = p(to, xo)

)���� �� f  p 
��"����� 
�� R ���
�� �� 
������
��� pxx, px, pt ����� ���
����� 
������
��� ����������� ��� Lf = 0 
�� C ��� �� �������� $t x% ∈ C �

ii) *�� ��� �������� ��� $+�,-% ������ ���

f(t, c(t)) = q − c(t) = exp{−rt}[q − c(t)H(t)]+, 0 ≤ t ≤ ∞.

iii) .��� �������� ��� $+�,/% ������ ���

p(0, x) = (q − x)+

0+



��� ���� x ≥ 0 ��� ��� ��� x ≥ c(0+) �	 	
	�	 ��
��� �
����

p(0, x) = Eo[exp{0}(q − xH(0))+] = (q − x)+.

iv)���	 ��	�� ��� �
������ ��� �
���� ������ ��	 	!�	�"� ��� ���� ����������� �#$
��% T ∈ �&'(∞�' ��� �t'x� ∈)&'*+ × �&'(∞� ��� 	��,	!"� �	� 
���	 ������

τx = inf{{θ ∈ [0, t), p(t − θ, xH(θ)) = (q − xH(θ))+} ∧ t

��� 
������	�"� ��� ��
��� �

p(t, x) = Eo

[
exp(−rτx)

(
q − xH(τx)

)+
]

#
���� 	��,	!"� �	� 
���	 ������

�x = inf{θ ∈ (0, +∞), xH(θ) ≤ q}

���� -���

τx ≥ �x στo {�x ≤ t}
���

τx = t στo {�x > t}.

*���

0 ≤ p(t, x) ≤ qEo

[
1{�x≤t} exp{−r�x}

]
+ Eo

[
1{�x>t} exp{−rt}(q − xH(t))+

]
≤

≤ qPo

[
�x ≤ T

]

���

lim
x→+∞

Po

[
�x ≤ T

]
= 0

	
���
sup

t∈[0,T ]

p(t, x)] = p(T, x) → 0 ∀T < ∞ óταν x → ∞

��� f ����� ���	!�� %� 
�	� �	 x ��� ����	!�� %� 
�	� �	 t�
.�� �� �
	����	!"� ��� "	���������� 	��,	!"� ��� f ��	 ���	 	 C̄ �� ����� �  ��� �	!

/0



����������	 ��
 ��
���� ��� ��	 ������	 �������������
������
�
�� ��� ∀T ∈ (0,∞), � f ��
�� ��� ��
� ���

{(t, x) ∈ [0, T ] × ([0,∞); x ≥ c(t))}.
!�� x > c(T ) ���"�
�� ��
 �����#����

M(t) = exp{−rt}f(T − t, xH(t)), 0 ≤ t ≤ T

#�� ��
 ���
� ��$��	

τx = T ∧ inf{t ∈ [0, T ] : xH(t) ≤ c(T − t)}
����� ��� ��
 �%�� ��
 Ito ���
�� ��� � {M(t ∧ τx) : 0 ≤ t ≤ T} ��
�� ��� ��� ��
�

Po − martingale� &����� � �

$����� p(T, x) = supτ∈S0,T
Eo

[
exp(−rτ)

(
q − xH(τ)

)+
]

����$
�� �� �� ���� ���� ��	 ��� τx = τ ∧ T ��
 ��
�� � ��������	 ���
�	' ���
�� ���
�� �������� ��� ����#� (������ ���

f(T, x) = M(0) = Eo(M(τx)) = Eo[exp{−rτx}f(T − τx, xH(τx))] =

= Eo[exp{−rτx}(q − xH(τx))
+] = p(T, x)

)*�� � �

$����� p(T, x) ��
 �%
�� �� �������� ��
�� ��
$��#��

+� (������ �
�� 
�������"�� ��� � p ��
�� ��#��$ �����  �� 
� ��������� ��

������ � ��
 #�
�
� Ito ��� ��#���� Snell ξ(t) = exp−rtp(T − t, S(t)) 
�� ��
 ���
�
��(��� ��� (T − t, S(t)) ∈ C ������ ���%�� ��� S(t) > c(T − t). *�) ��
 $��� ' ���

������� {(t, x) ∈ [0,∞)2, x < c(t)} ���
�� p(t, x) = q − x ��
 ��
�� �����	 ����� �

&������
 ���
�� ��������� ��	 p �#���,	 �$
, ��� �%
��� x = c(T ) ��,	 (�
������-�
�� ���
 � .������ ������)&��
�� �����	 ������-�� ��� �
�� �� ��#��,�� ����
�%
��� $�#���	 �� c(t)' ���
 �� ��#��,�� ������ 
� ��#�(�� �
 x < c(t) #�� 
� #�����
(�� �����	� /��(���
��	 ��� c(t) < q' � #���� �

$�����	 ����������	 max(q − x, 0)
��� ������ �����	 ��
�� ��� /�$���

 ����	 ��(�
�����	  �� ��
 #���� ��
 ��#�������	'
px(T, c(T )) ��� c(t)

• px(T, c(T )) < −1
• px(T, c(T )) > −1
• px(T, c(T )) = −1

0� ���-�
�� ��� �� �
� �����	 ����������	 ��
�� ��
(����
�	� *���#$ ���, ���
px(T, c(T )) < −1� +��� #�(�	 �� x �
-$
�� �� ����� �� �� c(t) ���� � ���� p(t, x)
11������22 #$�, ��� ��
 ���� �������,��	 ������ � #���� ��
�� ����������� ��
���#��
*
�� ������� �� �
��(��� �� ��
 ����� �� �������������	  �� �� ��#��,�� ��	

p(t, x) ≥ max(q − x, 0)

��



��� ������	 �
��� �����
��
�����
� �	 ���������� �
� px(T, c(T )) > −1 � �� ��
�� 
�� ���
�
��� � ��
�


�� ��������
�	 �� 
�� ��
�� ��
� ��� �� �
��� ���
��
� ��� 
�� ��
��� 
�� � �� 
��
������ �
� ��� �
��� �
� ����
��� 
�� �����
� 
��� 
���  ��!��� �� 
�� �
��
�����
"�����	 � �"
���	 ������ �� ���!��
��� ���� �����" ��� 
� x ������ �� ������� 
�
����
����# �"�� ��
�	 
�� 
�	 ���!���	 �
��� �
� � ������� 
�	 �
��
�����	 ������
�� �����
�������� 
�� ��
"����� ��
� 
�� ��������
�	 ��� 
�� �"
��� 
��� ������ 
�
����
��� ���������
 ��� ���!����� ��
���� �� 
��

f(t, c(t)) = q − c(t)

�� �
��� ��� ��� 
�	 ���������	 �������	� � ������� 
�� c(t) �����"$�� 
�� 
��� 
��
��������
�	 ��� ���	 
�	 ������
���	 
���	 ��� 
� c(.)�  �����	 �� px(T, c(T )) > −1
�
� c(t) � ��
� 
�� ��������
�	 ���
" �
� c(t) �� ���"��
���

%��
� ���" 
� ����
��� 
�������

�� �"��	� &����� � ���
� ������� ��� 
�
������ �
��� px(T, c(T )) = −1

�

������� ��	 �������� ��	 T ∈ (0,∞). 
 ����
 ��������� x → p(T, x) ����	 C1

����� ��	 ��� x = c(T ) � �	�	������ px(T, c(T )) = −1. (2.18)


���
���' ������ ������ � ����� p(T, x) = q − x ��� 0 ≤ x < c(T ) �������� ��
�"����� �
�

p(T, c(T ) + ε) − p(T, c(T ))

ε
=

q − c(T ) − ε − q + c(T )

ε
=

−ε

ε
= −1

&�����
px(T, c(T )−) = −1.

(�� 
�� ���
�
�
� 
�	 ����������	 x → p(T, x) )��� �����
����� �
�� *��
��� +�,-
������ �
� px(T, c(T )+) ≥ −1 "�� ����
 �� ��
����� 
�� ��

�
��!� �����
�
� ������
�
�

px(T, c(T )+) ≤ −1.

.�
���� x = c(T ) ��� ��
$���� 
�� ����� �
"��	

τx+ε = inf{t ∈ [0, T ], (x + ε)H(t) ≤ c(T − t)} ∧ T, για ε ≥ 0

���
� � τx+ε �
��� �� !�
����� �
� ε ��� τx ≡ 0�
������ c(.) �
��� �� ������� ���"�
��� ������

τx+ε ≤ inf{t ∈ [0, T ]; H(t) ≤ x

x + ε
} ∧ T.

/0



�������� � ����	 
������������
�
� ��������
� ��� ��� Po− ������ Brown Wo(.)
���
� ��� �

P ( min
0≤t≤α

H(t) < 1) = 1 για ∀α > 0

��� ��� �� τx+ε ↓ 0 ���� ε ↓ 0 σ.β.
��������

p(T, x + ε) = Eo[exp{−rτx+ε}(q − (x + ε)H(τx+ε))
+] =

= Eo[exp{−rτx+ε} (q − xH(τx+ε))
+]−

−Eo[exp{−rτx+ε}[(q − xH(τx+ε))
+ − (q − (x + ε)H(τx+ε))

+]]

≤ p(T, x)−Eo[1{τx+ε<T} exp{−rτx+ε}[(q − xH(τx+ε))− (q − (x + ε)H(τx+ε))]−

−Eo[I{τx+ε=T} exp{−rT}[(q − xH(T ))+ − (q − (x + ε)H(T ))+]

≤ p(T, x) − Eo[1{τx+ε<T} exp{−rτx+ε}(q − xH(τx+ε) − q + xH(τx+ε) + εH(τx+ε))]−

−Eo[I{τx+ε=T} exp{−rT}(q − xH(T ) − q + xH(T ) + ε)H(T )))]−

−εEo[1{τx+ε=T} exp{−rT}H(T )] =

= p(T, x) − εEo[1{τx+ε<T} exp{−rτx+ε}H(τx+ε)] + εEo[I{τx+ε=T} exp{−rT}H(T )].

������

p(T, x+ε)−p(T, x) ≤

≤ −εEo[I{τx+ε<T} exp{−rτx+ε}H(τx+ε)]+εEo[I{τx+ε=T} exp{−rT}H(T )].

���������	 �
 ε > 0 �����


p(T, x + ε) − p(T, x)

ε
≤ −Eo[I{τx+ε≤T} exp{−rτx+ε}H(τx+ε)]+Eo[I{τx+ε=T} exp{−rT}H(T )].

��



⇒ px(T, x+) ≤ lim
ε→0

Eo[I{τx+ε=T} exp{−rT}H(T )]−

− lim
ε→0

Eo[exp{−rτx+ε}H(τx+ε)]

������ ������ 	 
�
���

�	 
�
��	
������	�� ��
��� ��� ε → 0 ���

px(T, x+) ≤ 0 − Eo(Eo[exp{−rτx}H(τx) → −1

�	���� ���
�
��� ���
px(T, x−) ≤ −1


���� px(T, c(T )) = −1.

������� ��	 �������� ��	 T ∈ (0,∞) 
�	 �� 
������
� ξ(t) ��� �������	 ��� ���

��
�

ξ(t) = exp{−rt}p(T − t, S(t))

���� � ξ(t) ��	������	 �� ��������� Doob Mayer ������ ξ(t) = M(t)− � (t) ���� �
�	��	
�
��

M(t) = p(T, S(0)) + σ

∫ t

0

exp{−ru}S(u)px(T − u, S(u))dWo(u)

����	 �	� Po − martingale � 
�	

Λ(t) =

∫ t

0

exp{−ru}(qr − δS(u))I{S(u)<c(T−u)}du

����	 �� ������
�� �	�	
����� ������ δc(0+) ≤ rq�  
������
� ξ(t) ����	 � ��
���!
Snell.


��
����� ����
�
�
��� �	� ����
�	�	 p(., .) ��� �� ���
���
��� �
� ������ �
�
Ito. ����� ��� ζ : R2 → [0,∞) ����� ��� C∞ ����
�	�	�	 
�
�� ���� �

�� ��
 [0, 1]2.
��� ε > 0 

��
��� �

p(ε)(t, x) =

∫ ∞

0

∫ ∞

0

p(t + εu, x + εv)ζ(u, v)dudv =

=
1

ε2

∫ ∞

0

∫ ∞

0

p(s, y)ζ(
s − t

ε
,
y − x

ε
)dsdy

��� �
� ��
�
����� ���� �
	���
�
������ �� ������ ����!�	�"� s = t + εu ���
y = x+ εv ��� �	� #���!���� J = 1

ε2 �
� �

������ ��� ���� $ �%
� ���� 	 p(ε)(t, x) �����

&'



��� ������ C∞ ��� (0,∞)2. �	
��
� 
	�	���� � px(t, .) 
���� ���
�
� ��� (t, x) ∈ (0,∞)2

�	�����
 �� ������������
 ���� ���� ��� �� 	�����


p(ε)
x (t, x) = − 1

ε3

∫ ∞

0

∫ ∞

0

p(s, y)ζx(
s − t

ε
,
y − x

ε
)dsdy

=
1

ε2

∫ ∞

0

∫ ∞

0

px(s, y)ζ(
s − t

ε
,
y − x

ε
)dsdy

=

∫ ∞

0

∫ ∞

0

px(t + εu, x + εv)ζ(u, v)dudv

�	����

p(ε)
xx (t, x) =

1

ε4

∫ ∞

0

∫ ∞

0

p(s, y)ζxx(
s − t

ε
,
y − x

ε
)dsdy

= − 1

ε3

∫ ∞

0

[

∫ c(s)

0

px(s, y)ζx(
s − t

ε
,
y − x

ε
)dy+

+

∫ ∞

c(s)

px(s, y)ζx(
s − t

ε
,
y − x

ε
)dy]ds =

= − 1

ε3

∫ ∞

0

∫ c(s)

0

px(s, y)ζx(
s − t

ε
,
y − x

ε
)dyds−

− 1

ε3

∫ ∞

0

∫ 0

c(s)

px(s, y)ζx(
s − t

ε
,
y − x

ε
)dyds,

��
 �����
���� ���� ���� �� 	��� y�

= − 1

ε2

∫ ∞

0

[px(s, c(s)−)ζ(
s − t

ε
,
c(s) − x

ε
)−

−
∫ c(s)

0

pxx(s, y)ζ(
s − t

ε
,
y − ε

ε
)dy]ds

− 1

ε2

∫ ∞

0

[−px(s, c(s)+)ζ(
s − t

ε
,
c(s) − x

ε
)−

��



−
∫ ∞

c(s)

pxx(s, y)ζ(
s − t

ε
,
y − ε

ε
)dy]ds =

= − 1

ε2

∫ ∞

0

∫ ∞

0

[px(s, c(s)−)ζ(
s − t

ε
,
c(s) − x

ε
)−

−
∫ c(s)

0

pxx(s, y)ζ(
s − t

ε
,
y − ε

ε
)dy+

+

∫ ∞

0

px(s, c(s))ζ(
s − t

ε
,
c(s) − x

ε
)−

−
∫ ∞

c(s)

pxx(s, y)ζ(
s − t

ε
,
y − ε

ε
)dy]ds =

=
1

ε2

∫ ∞

0

∫ ∞

0

pxx(s, y)(
s − t

ε
,
y − ε

ε
)dsdy =

=

∫ ∞

0

∫ ∞

0

pxx(t + εu, x + εv)ζ(u, v)dudv

���

p
(ε)
t (t, x) =

∫ ∞

0

∫ ∞

0

pt(t + εu, x + εv)ζ(u, v)dudv

���� �� ζx ��	�� �� 
�����
 ��������� ��� ζ �� ����� 
� ��	 x 
��������� �������	

������ ��� �� p
(ε)
x ��� L

(ε)
p ��	�� ����
�	�
 �� ��
���� �����	��� ��� (0,∞)2. ����� �	

�����
� ���� ����
�
px(t, x) = lim

ε→0
p(ε)

x (t, x)

���
Lp(t, x) = lim

ε→0
Lp(ε)(t, x), ∀(t, x) ∈ (0,∞)2 και x �= c(t)

����� ��	�	��
 Ito ���	 ��	������ ξ(t) ����
� ���

exp{−rt}p(ε)(T − t, S(t)) = p(ε)(T, S(0)) +

∫ t

0

exp{−ru}Lp(ε)(T − u, S(u))du+

+σ

∫ t

0

exp{−ru}S(u)p(ε)
x (T−u, S(u))dWo(u) (2.19)

��



������ ∀u ∈ (0, T ) ���	
� Po[S(u) = c(T − u)] = 0, ��
��� � ���������� �� ����� ��� �
��
� ��	 ������
���� 
� ��� ��
� ��� ������ ����� 
������� ����� �

∫ t

0

exp{−ru}Lp(T − u, S(u))du =

=

∫ t

0

exp{−ru}(δS(u)−rq)I{S(u)<c(T−u)}du σ.β. (2.20)

���� �� ����	
� ε → 0 ���� (2.19) ���	
�

exp{−rt}p(T − t, S(t)) = p(T, S(0)) +

∫ t

0

exp{−ru}Lp(T − u, S(u))du+

+σ

∫ t

0

exp{−ru}S(u)px(T − u, S(u))dWo(u)

��� �����
��������� ��� ���� ! ���	
�

exp{−rt}p(T−t, S(t)) =

= p(T, S(0)) + +σ

∫ t

0

exp{−ru}S(u)px(T − u, S(u))dWo(u)

+

∫ t

0

exp{−ru}(δS(u) − rq)I{S(u)<c(T−u)}du

= M(t) − Λ(t)

���� ������"�
� ���
ξ(t) = M(t) − Λ(t), 0 ≤ t ≤ T.

������ �#�$� t ↑ T, ������	
� �� ����

exp{−rt}p(0, S(T )) = p(T, S(0))+

+

∫ T

0

exp{−ru}(δS(u) − rq)I{S(u)<c(T−u)}du+

% 



+σ

∫ T

0

exp{−ru}S(u)px(T − u, S(u))dWo(u),

⇒ ξ(T ) = M(T ) − Λ(T ).

� ������� M(t) = p(T, S(0))+σ
∫ t

0
exp{−ru}S(u)px(T−u, S(u))dWo(u) �	��� martingale

�
���� �
���� ��� −1 ≤ px ≤ 0 ��� Eo

∫ T

0
S2(u)du < +∞�

�
�
���� ��� �� �
���	����� ��� � ���� �	��� �� ��	���
� ����������� ��
����� � �����
� ��� ξ(t) = M(.)−���� �	��� ��������� � 
��
� ���� ���

� �� ξ(t)

� ��� 
����� martingale M(t) ��� 
� ��� 
����� ��� �� � ������ �����
� �������
�()� !"�#� � ������� Snell �
���� �	��� � ������� supermartingale ���� ��� �����
�
Doob − Mayer �$��
� %� � ����� ������ ��������� 
� ���� 
����� martingale�&����

����� �� ��	���
� ������� �� !' � � ξ(t) = M(t)− �(t) �	��� �����
� Doob − Mayer,
�
��� � � �� �	��� � �� ��	���
� ��������
�
�
���� �
���� ������ ���

Po[S(u) < c(T − u)] > 0,∀u ∈ [0, T ],

���� � 
��
� �
� �	 �� �
���� ���� �� rq−δc(T−u) ≥ 0 ��� Lebesque σ.β. u ∈ [0, T ].
(����� ����� δc(0+) ≤ rq�

�

������� ��	 �������� ��	 T ∈ (0,∞). 
 ��
������ ξ(t)

ξ(t) = exp−rt p(T − t, S(t))

��	�����	 ��
 �
����������

ξ(t) = Eo[e
−rT (q − S(T ))+/F (t)] + [Eo[Λ(T ) − Λ(t)/F (t)] 0 ≤ t ≤ T

���� Λ(.) ��
�	 ��	���
� ��� �� ����� Λ(t) =
∫ t

0
exp{−ru}(qr − δS(u))I{S(u)<c(T−u)}du


���
���) (���#�� �� �� *�+ ��� 2.3 ������
Eo[e

−rT (q − S(T ))+/F (t)] =

= Eo[ξ(T )|F (t)] = (DoobMayer)

= Eo[M(T ) − Λ(T )|F (t)] =

= Eo[M(T )|F (t)] − Eo[Λ(T )|F (t)] =

,-



= Eo[M(T )|F (t)] − Eo[Λ(T ) + Λ(t) − Λ(t)|F (t)] =

= M(t) − Λ(t) − Eo[Λ(T ) − Λ(t)|F (t)] =

= ξ(t) − Eo[Λ(T ) − Λ(t)|F (t)] 0 ≤ t ≤ T.

����� ������	�
� ���

ξ(t) = Eo[exp{−rT}(q − S(T ))+|F (t)] + [Eo[Λ(T ) − Λ(t)|F (t)] 0 ≤ t ≤ T

�

���������� ��	
�� ������� 2.1 	�
���
��
� ��� ������ ���
������ ��� ����� � p(T, x) ��� t = 0 ���

��
��������� 	���������� ��
���� �
 ��
������� 
���� T > 0 ��� ���� ������� q > 0
���� S(0) = x.

��
���� ��� � ��������� ��� 


��
��� ������� c : [0,∞) → (0, q] 
���� ���
��� ���
����
�

c(0+) =

⎧⎨
⎩

q, αν r ≥ δ

rq
δ
, αν r < δ

�

������ �
����
� c(0) = q �� r ≥ δ ��� c(0) = rq
δ
�� r < δ. ��� �
����� ���

� c(.) ����� �
����
� ������� ��� 
� ��	���� � ��� �� ������	��
� ��� � c ����� ��	��
������� ��������
� ��� c(to) > c(to+)  �� ������ to ∈ [0,∞) ��� �
����
� ��

x1 =
1

2
[c(to) + c(to+)] < c(to) ≤ c(0)

!"��# t ∈ (to,∞) ��� x ∈ (c(t), x1) ����
��� � ��� �� $�%
�
� &�� ��� ��  � ���� ���
p(, x) ����� 
� '������� ����
�

1

2
σ2x2pxx(t, x) ≥ (r − δ)xpx(t, x) − rp(t, x)

"�����
p(t, x) ≥ (q − x)+ ≥ q − x1 > 0,

����� ������ r ≥ δ 
��
��
� �� �
���
��������
� ��� ���������

−1 ≤ px(t, x) ≤ 0

 �� ��  
�(��
� �
1

2
σ2x2pxx(t, x) ≥ r(q − x1) > 0.

)&



��� ��� ����� 	�
� �� r < δ �

 ���
�� 
����
 δx1 < δc(0+) = rq ������ 	�
 �

1

2
σ2x2pxx(t, x) ≥ −(δ − r)x1 + r(q − x1) = rq − x1δ > 0,

���
�� δx1 < δc(0+) = rq.
���
�� �� ���� ��������� 
����


pxx(t, x) ≥ η =
2[rq − (r ∨ δ)x1]

σ2x2
1

> 0 ∀t ∈ (to,∞), x ∈ (c(t), x1).

�� ������� φ(ξ) = (q − ξ)+, t ∈ (to,∞) �

 xo ∈ (c(to+), x1) �	�� ������������ ���
���	���


p(t, xo) − φ(x) =

∫ xo

c(t)

∫ y

c(t)

[pxx(t, ξ) − φ′′(ξ)]dξdy ≥ 1

2
η(xo − c(t))2

��� 
����
 ���
�� φ(c(t)) = p(t, c(t)) �

 p(t, c(t)) = φ(c(t)), px(t, c(t)) = φ′(c(t)).
����
�
 
 �����
! �� t ↓ to �

 ����
����
"��
! �� ������

 ��� p� �
������� 	�


p(to, xo) ≥ (q − xo)
+ +

1

2
η(xo − c(to+))2 > q − xo.

���
 ���
�� 
����
 c(to) < xo ��� ���

 
������� �� ��� ��
��	 ��� x1

#������� �� �����

D = {(t, x) ∈ (0,∞)2; x > d(t)} (2.21)

• $������� �� ��������� d ��� ���

 �� 
�%���
 �

 
�
����� ������! ��� [0,∞) (2.22)
�


• �� ��������� f ������! ��� [0,∞)2 �� ft� fx �

 fxx �
 ���

 ��
�����! �

 �������!
��� 
��
��	 ������ D &'(')*
�����! �������� �� ������

G = [0,∞) × [0, q), αν r ≥ δ,

�



G = [0,∞) × [0,
rq

δ
) αν δ ≥ r

+�� ������ G ���

 ��
�� �

 
����
 	�


Lf(t, x) = δx − rq < 0, ∀(t, x) ∈ G

,)



������� ��	 �� ������� 	
� ���
�	���
� (p(., .), c(.)) ���
� � �������� ���� 	�� ����
����
	�� 	�� ��������� ������� ��� �����	
� 
� ����

d(0) = d(0+) ≤ rq

δ
αν δ > r (2.24)

Lf = 0 στo D, óπoυ : Lf =
1

2
σ2x2fxx + (r − δ)xfx − rf − ft (2.25)

f(t, x) ≥ (q − x)+, ∀ (t, x) ∈ [0,∞)2 (2.26)

f(t, x) = (q − x), ∀ t ∈ [0,∞), 0 ≤ x ≤ d(t), (2.27)

f(0, x) = (q − x)+, ∀ x ∈ [d(0),∞), (2.28)

lim
x→+∞

max
0≤t≤T

| f(t, x) |= 0 ∀T ∈ (0,∞) (2.29)

fx(t, d(t)+) = −1, ∀ t ∈ (0,∞). (2.30)


��
����� ������ ��� 	
� ��� 
�
������ ������������ �
� 
����� �
� �����
� C 	
�
�
 ������	 ������ �
 ����	 ����� �	� �� �����

δc(0+) ≤ rq

��� �
 ��� ��� (p(, ), c(, )) ����� �
 
��!���	 ����"�#����$��
%�	���


�
��� �
 (T, x) ∈ [0,∞)2 �	� ������


�
��� ��� 
�	�


&��� �
�

��'���	�
� �����  �	 �	 
��
��� �
� ��

 �

exp{−rt}f(T − t, S(t)) = M f (t) − Λf (t), 0 ≤ t ≤ T

�

� x = S(0)��	� � (�	(�����	 M f () �&�	� Po− �

��� martingale

M f (t) = f(T, x) + σ

∫ t

0

exp{−ru}S(u)fx(T − u, S(u))dWo(u)

	���� �
��(� ������ � �����

Lf(t, x) = δx − rq < 0, ∀(t, x) ∈ G

� 	����)�

Λf (t) =

∫ t

0

exp{−ru}I{S(u)<d(T−u)}(rq − δS(u))du

�&�	� �� *�&�
��	�
+,��' {τn}∞n=1 

� �&�	� � 	�
�
���	 �'� ����'� ������ ��

τn ↑ T σ.β.

�	� ���
�	 ����

{M f (t ∧ τn); 0 ≤ t ≤ T}

-.



�� ����� Po− martingale� ����	


M f (t ∧ τn) = f(T, x) + σ

∫ t∧τn

0

exp{−ru}S(u)fx(T − u, S(u))dWo(u)

M f
o = f(T, x).

EMτ∧τn = Mo = 0

St(x) ≤ c(τ − t)

��� �
�� ����� ��
��� τ ∈ S0,T ������

Eo[exp{−r(τ ∧ τn)}f(T − (τ ∧ τn), S(τ ∧ τn)) = f(T, x) − EoΛ
f (τ ∧ τn) (2.31)

��� ������ ���� ��� ���������� ����  ���� ����	
 � f ����� !������� ��� [0, T ]× [0,∞]
��� �������� �
����� ���� �� ���� (2.30) �� ������ ��� τn ↑ T ���

Eo[e
−rτf(T − τ, S(τ))] = f(T, x) − EoΛ

f (τ) ∀τ ∈ S0,T (2.32)

"���� ����	
 ������ � �����
f(t, x) ≥ (q − x)+

��� � Λf (τ) ����� �� �������
 ������ ���

Eo[exp{−rτ}(q − S(τ))+] ≤ f(T, x) για oλα τα τ ∈ S0,T

����� ���#
�����
p(T, x) ≤ f(T, x).

$������� �� �������� ��� ����� ��
���

τx = T ∧ inf{t ≥ 0; S(t) ≤ d(T − t)}
�� ����� � ������ ����
����� ��� �� ������� ������ [0,∞)2 \ D ���������

f(T − τx, S(τx)) = (q − S(τx))
+

"�� ��� ������� % ����� &��'�( ��� τ = τx �������

Eo[exp{−rτx}f(T − τx, S(τx))] = f(T, x) − EoΛ
f (τx)

����	

Eo[exp{−rτx}(q − S(τx))

+] = f(T, x).

 ���� �����
 ������
p(T, x) = f(T, x) στo [0,∞)2

)���� �� 	��*���� ��� �� ������
���� c(.) ��� d(.) ����� ����+ ��� �� ����� ���� ��
	�������
����� ������� ��
���� ��� &������
( ������

C = {(t, x) ∈ (0,∞)2; p(t, x) > (q − x)+} =

,,



= {(t, x) ∈ (0,∞)2; x > c(t)}
���

D = {(t, x) ∈ (0,∞)2, x > d(t)}.
�������� ��� (t, x) ∈ C 	
���
 ���

Lp(t, x) = 0

��� ������
� ��� �� (t, x) �
� ����
� ��� (0,∞)2\D� ������

C ⊆ D

���� 
�
��� �� C ��� D 
���� ����
�� ��	�
� �� 	
���
 ���� ��������������

C ⊆ D.

����� �� ����� ��� C ��� D ������� �� 
������
��� ����


D ⊆ C

������ �������� ��
�
� ���
C = D.

�

��



�������� �

���������

������� ��	 ��������� ����	
���� ��
��	
�
����� Xn ��	 
���	�����
�� �adapted� 	�������	 �	� c 
�	� ������ ������

�stopping time� � ���� �
i) � 	�������	 XT ���	� 
���	�����
��
ii) �� Xn ���	� ��	 martingale � � 	�������	 XT ���	� ��	 martingale �� ���

E(XT
n ) = Xo ∀n

iii) �� ���� τ(ω) ≤ c ≤ +∞ ∀ ω ! 	� � 	�������	 Xn ���	� "�	#�
�� � ��	 !
|Xn(ω)| ≤ K ∀ n, ω �	� ��
��� K > 0 
����� �

E(Xτ ) = E(Xτ(ω)(ω)) = E(Xo)

������� ��
 �Girsanov� �� ����!����� ut = (u1,t, ..., un,t) 
�	  ������	 	
� ����	$
#����
� �������%����� ����	����
�  �	 ��	���� 
�� ��	��
���&� ��� ����!�� Novikov

E

[
exp

(
1

2

∫ T

0

ususds

)]
< ∞

����� Wt ��	 ��
��! ������ Brown ���� 	
� �� �
��� P. �� �������� ��� ����������
 �	 ��	��	

Mu
t = exp

[
−

∫ t

0

usdBs − 1

2

∫ t

0

ususds

]
, t ∈ [0, T ].

� ����	����! 	��!  �	 �����	 ���	� ��	 martingale ���� 	
� �� �
��� P. '����&���


����� �� ��� &�	�� �
��� 
��	�����	� Qu 
�� ���(��	� 	
� ��

dQu

dP
= Mu

t

��



���� � �������	
� �	��	
��
� W̃ u
t ��� ��
����	 ��� ��� �����

W̃ u
t = Wt +

∫ t

0

usds, 0 ≤ t ≤ T

�
��	 �	� ���	
� 

���� Brown 
�	 �	� martingale 
��� ��� �� ����� Qu. ��	����
��� � W̃ u

t ���	 ��� 	�	����� ������������� martingale, ������ �	� 
��� ���	
� Qu −
martingale Lt ������	 
���	� φ � ���
� �
��	 ��������	
� ���
�����	�� 
�	 ����	� ����

Lt = Lo +

∫ t

0

φsdW̃ u
s , t ≤ T

������� ��	 �	� 
��� u ∈ S 
�	 τ ∈ Su � � �	
�����	� {E[Y (ρ)|F (u)]}ρ∈Sτ �
��	

��	��� �� ���� �� ���	�����
��� !�����	 �	� �
�����
� {ρn}∞n=1 ��� ������� ������
��� Sτ � ����	� ���� � �
�����
�

{E[Y (ρn)|F (u)]}∞n=1|
�� �
��	 �� "�
����� 
�	 �� 	��#�	 � �����

ess supρ∈Sτ E[Y (ρ)|F (u)] = lim
n→∞

E[Y (ρn)|F (u)] (3.1)


���
���� ����� ρ1 ��� ρ2 ��	 Sτ ��� �	 �
�	�	

A = {E[Y (ρ1)|F (u)] ≥ E[Y (ρ2)|F (u)]}, ρ3 = ρ11A + ρ21Ac .

�
���� A ∈ Fu� 	 �����	� ����	� ρ3 ����� ����	� �������
���������� � ρ3 ∈ Sτ ���

E[U(ρ3)|F (u)] = 1AE[Y (ρ1)|F (u)] + 1AcE[Y (ρ2)|F (u)]

= E[Y (ρ1)|F (u)] ∨ E[Y (ρ1)|F (u)] (3.2)

�

������� ��� �	� 
��� u ∈ S, σ ∈ S και τ ∈ S ������

Z(u) = Z(σ) σ.β. στ o{σ = u} (3.3)

E[Z(τ)|F (u)] = ess sup
ρ∈Sτ

E[Y (ρ)|F (u)] σ.β. (3.4)

E[Z(τ)|F (u)] ≤ Z(u) σ.β. (3.5)

E[Z(τ)] = sup
ρ∈Sτ

E(Y (ρ)) ≤ Z(0) < ∞ (3.6)

��



��������� ��� ��� ���	
��� ��� 
���� ���
������
 ��� �� �
����� B = {u = σ}
����
� ���� �����
��� Fu ∩ Fσ = Fu∧s� ��� 	
	����� τ ∈ Su ��� ���
 ��� !����
τB = τ1B + T1c

B, ������� ���
 τB ∈ Sσ."�� ��� ������ ��� ��� ���#��� ����� �����
�!���
 ���

1BE[Y (τ)|F (u)] = 1BE[Y (τB)|F (u)] = 1BE[Y (τB)|F (u ∧ σ)]

= 1BE[Y (τB)|F (σ)] ≤ 1BZ(σ) σ.β.

��� ��#
 τ ∈ Su� $�������
Z(u) ≤ Z(σ)

�!
	�� �
���%� ��� B� "�������&����� ���� ������ �%� u ��� σ ���������
 ��� 
�����
��� ��� 
��'� !����������(�
 ��� )������ ��* ��� 
��������
 ��� ������#�� {ρn}∞n=1

��� Sτ ������ ���
 {E[Y (ρn)|F (τ)]}∞n=1 
���� �� &#������ ���

Z(τ) = lim
n→∞

E[Y (ρn)|F (τ)].

"�� �� #
����� ��������� �(������� ��� ��� ���#��� ���
� �����+ �!���


E[Z(τ)|F (u)] = lim
n→∞

E[E{Y (ρn)|F (τ)}|F (u)]

= lim
n→∞

E[Y (ρn)|F (u)]

≤ ess supρ∈Sτ E[Y (ρ)|F (u)].

"�� ��� ���� + Z(τ) ≥ E[Y (ρ)|F (τ)] ��!(
� ��� ��#
 ρ ∈ Sτ ��� ���������� ��� ���#���
���
� ����� ��� ���� 	�� ��
���� ��� ���������� �!���
 ���

E[Z(τ)|F (u)] ≥ E[Y (ρ)|F (u)].

, �
�
����� �!��� ������
� ���

E[Z(τ)|F (u)] ≥ esssupρ∈Sτ E[Y (ρ)|F (u)]

��� ���	
���(
� ��� 
��'��$�
�	� ��!(
� ���

esssupρ∈Sτ E[Y (ρ)|F (u)] ≤ esssupρ∈SuE[Y (ρ)|F (u)] = Z(u)

�!���
 ��� 
��-� ��
�� ��� ��� 
*���� $������� �� #�����
 u ≡ 0 ���� 
��'� ��� 
��-�
���������
 ��� 
��.��

�

-/



������� ��� � ������� Snell Z0(.) ��	 Y (.) 
����
�
�� ��� �����

Z0(u) = Z(u) σ.β. (3.7)

�
� ���� u ∈ S. �


���� � Z0(.) �	�
����� ��� Y (.) ��
 �� X(.) ����
 �
� ���� RCLL
supermartingale 
�	 �	�
����� ��� Y (.), ���� � X(.) �
���� �	�
����� ��� Z0(.)

������� ��	 �
� 0 < λ < 1 ��
 ���� u ∈ S� ���	�� �

Zo(u) = E[Zo(Dλ(u) F (u)] σ.β. (3.8)

������� ��
 ����� Y () ���
 �
� �	���� ������ ��
 � 	
�����

E[ sup
0≤t≤T

Y (t)] < +∞


�� �
 ! "��� �
� ���� u ∈ S � ���#���
 �
� �

D∗(u) = lim
λ→1

Dλ(u) σ.β.

��
 
����
�
�� �

E[Y (D∗(u)) F (u)] = Zo(u) = ess sup
τ∈Su

E[Y (τ) F (u)] σχ.β. (3.9)

$�� D∗(u) ���������
 �� sup ��


D∗(u) = inf{t ∈ [u, T ], Zo(t) = Y (t)} σ.β. (3.10)

���
����� ������� �� 	
� ��
	��
 ��� ��� 	
� ����
	
	�

λZo(Dλ(u)) ≤ Y (Dλ(u))

������ 
	�

Zo(u) = E[Zo(Dλ(u))|F (u)] ≤ 1

λ
E[Y (Dλ(u))|F (u)] σ.β.

����
� ��� ���� λ ∈ (0, 1) ������ 
	� Y (Dλ(u)) ≤ Ȳ 
���

Ȳ = sup
0≤t≤T

Y (t) (3.11)

� 



����� �������� �	 
���
����
������ �� ������	 ���
	�
������ �����
��� �
	 ���
������� ����� �
��� � �� �����	��� �� ��� 	�
����� ����
�
	 ��� Y (t) �	
 �	 ��������
����� ��


Zo(u) ≤ lim
λ↑1

E[Y (Dλ(u))]|F (u)] = E[Y (D∗(u))|F (u)] σ.β.

��
����� ���
�� � Zo(.) ���	
 supermartingale �	
 ���
	�
�� ��� Y (.) �	������� ���
	��������� 	�
�����	

E[Y (D∗(u))|F (u)] ≤ E[Zo(D∗(u))|F (u))] ≤ Zo(u) σ.β.

�	
 ���
 	������	�� ��� �� !" ������ 	�� ��� �� !" �	
 ��� 
�
����	 ��� supermartingale�
�
���� ��


EY (D∗(u)) = EZo(u) ≥ EZo(D∗(u)).

#��$ � Zo(.) ���
	�
�� ��� Y (.)� ����� 
�
��
 ��


Y (D∗(u)) = Zo(D∗(u)) σ.β.

�	

D∗(u) ≥ inf{t ∈ [u, T ]; Zo(t) = Y (t)} σ.β.

%
	 ��� 	��������� 	�
�����	� �	�	������� ��
 � ��
���� ���

Dλ(u) = inf{t ∈ (u, T ]; λZo(t) ≤ Y (t)} ∧ T

����
 ��

Y (t) < λZo(t) ≤ Zo(t)

�
	 �$�� t ∈ (u, Dλ(u)) �	
 λ ∈ (0, 1) #���� 
�
��
 ��


D∗(u) = lim
λ↑1

Dλ(u) ≤ inf{t ∈ (u, T ]; Zo(t) = Y (t)} σ.β.

������ �
	 ��� �	�	�$�& �
��� 
�
��
 ��


D∗(u) ≤ inf{t ∈ [u, T ]; Zo(t) = Y (t)} σ.β.

����� �����
 �	 �������� ��


D∗(u) = u σ.β. στo {Zo(u) = Y (u)}.

'�� ������ {Zo(u) = Y (u) > 0}� � ���
$ ����
�
	 ��� Zo(u) �	
 Y (.) �����$���	

��


Dλ(u) = u σ.β.

�
	 ��	 �	 λ ∈ (0, 1) �	
 ��
�����

D∗(u) = u σ.β.

()



������ ����	
� �� 
� ������
��� ������� ������ �
�

E[1{Zo(u)=0}Zo((u + θ) ∧ T )] ≤ E[1{Zo(u)=0}Zo(u)] = 0 σ.β., θ ≥ 0

��� ������������ �
� ������

λZo(t) = 0 ≤ Y (t), 0 ≤ t ≤ T σ.β. στo {Zo(u) == Y (u) = 0}
���	� �� ��
� 
� ��
��� ������� ������ �
�

D∗(u) = u σ.β.

�

������� ��	 ��� �� ������� E[sup0≤t≤T Y (t)] < ∞ � RCLL supermartingale Zo()
��	�
���	 ��� 
������ Doob− Meyer

Z() = M() − Λ() (3.12)

� M() ���
	 ���	���
�
 ������
��	�� RCLL martingale �� ����� �� ��� �������


{F (t)}0≤t≤T �
	 � Λ() ���
	 �	
 ����
 � ������� �� 
�����
 {F (t)}0≤t≤T ��
��

�������

���	�� ��

Λ(0) = 0 και EΛ(T ) < ∞.

 ���� 
� Y () ���	 ������ ���
�
 ! ���� � Λ() ���
	 ������� �
	 "#������$$ �
�
�� 
��
�� ������

H(ω) = {t ∈ [0, T ]; Zo(t, ω) = Y (t, ω)}
������ ∫ T

0

I{Zo(t)>Y (t)}dΛ(t) = 0 σ.β. (3.13)


���
��� !������
����� � ������� �
� � ������
��� {Zo(u)}u∈S ��
�� ������������"
!�� 
�
 ���
�
� #$"%& ������ �
�

Zo(u) ≤ E[Ȳ |F (u)]

�� 
�
 �

��� 
�� #$"'(&� ���
� ������

EZ0(u) ≤ EȲ < ∞
��� ��� 
� u ∈ S. )�� ε > 0 ������� δ > 0 
�
��� ��
�

A ∈ F (T ), P (A) < δ ⇒
∫

A

Ȳ dP < ε

���
	 α > 1
δ
EȲ , 
�
�

P [Zo(u) > α] ≤ 1

α
EȲ < δ,

*+



∫
{Z0(u)>α}

Zo(u)dP ≤
∫
{Z0(u)>α}

E[Ȳ |F (u)]dP =

∫
{Z0(u)>α}

Ȳ dP < ε, ∀u ∈ S

�� �������� 	
� �����
 � Y (.) ����� �����
� ��� ������� ��� ��������� ��	 ��	����
�
���� {un}∞n=1 �� �������� �
� S � ��� 
�� ����� ������ 	
� u = limn→∞ un, 
	
� ������
EZo(u) = limn→∞ EZo(un). ������
� � ����	
�
�

EZo(u) ≤ limn→∞EZo(un)

������ �����
 � Zo(.) ����� supermartingale. ��� 
��� ��
��
���� ����	
�
� � ����
��
����� 	
� � ��������� 
 � ��	� � �
���� {D∗(un)}∞n=1 ���������� 
�� !"#$% ��� ����� ��
�������� ��

lim
n→

D∗(un) ∈ Su.

&�	 
�� ����� !"#'% � 
� ��(���� )������������ *��������� 
�� �������� 
�� Y (.) ���

�� supermartingale ���	
�
� 
�� Zo(.), ������

limn→∞EZo(un) = limn→∞EY (D∗(un)) ≤ EY ( lim
n→∞

D∗(un))

≤ EZo( lim
n→∞

D∗(un)) ≤ EZo(u)

��� 
�� ��	����� 
�� !"#+"% ���,���� 
�� ���������� 
 � ��	� � �
����

ρt = inf{s ∈ [t, T ); Λ(t) < Λ(s)} ∧ T, για t ∈ [0, T ) (3.14)

- ���� �� !"#$%� � ����� Y (.) ≥ Zo(.) ��� � supermartingale ���	
�
� 
�� Zo(.) ������

EZo(ρt) = EY (D∗(ρt)) ≤ EZo(D∗(ρtρ)) ≤ EZo(ρt).

*��� �� �� 
� .�����
��	 ��(���� � � ����	����� �������(���� martingale ������
����� M(.) ���������� 
�� �����

EM(ρt) = EM(D∗(ρt)).

/����� ������ 	
�
EΛ(ρt) = EΛ(D∗(ρt))

&��� � Λ(.) ����� �� �������� � ��� Λ(ρt) = Λ(D∗(ρt)), σ.β.
0 �����	� 
�� ρt 
	
� ��� ����� 	
�

ρt = D∗(ρt), σ.β.

��� � ����� !"#$% ����� 	
�
ρt(ω) ∈ H(ω)

��� 	�� 
� ω ∈ Ω. 0��,���� 
� ������ Q �����(� ��
�1��
(� ��� ��� ���� ω ∈ Ω
������

{ρq(ω); q ∈ [0, T ] ∩ Q} ⊆ H(ω) (3.15)

2"



�����������	
� ��� ω ∈ Ω 
�� �� ����� ���	�� � ������� �� ������������ t → Λ(t, ω) ���
t → Y (t, ω) ����� �������� ��� [0, T ] ��� ������ � ���������� t → Zo(t, ω) ����� RCLL.
��� �� ��� ��
� ��� �� �	��!� Λ(., ω) ����� ������� � ���"��
� �� �	��!�

J(ω) = {t ∈ (0, T );∃ε > 0 µε Λ(t − ε, ω) = Λ(t + ε, ω)}.
#� �	��!� J(ω) ����� ������� � ����� 
����� �� 
��$�� %� ��%�� ������&� ������
'�%�⋃

i

(αi(ω), βi(ω)).

(�
�"�
���� 
� �� �	��!� )

Ĵ(ω) =
⋃
i

[αi(ω), βi(ω)) = {t ∈ [0, T );∃ε > 0 µε Λ(t, ω) = Λ(t + ε, ω)}

��� �� ��
�!��%
����� ��� Ĵ c(ω) ��� [0, T )×Ω. * ���'����� t → Λ(t, ω) ����� +�������,
��� Ĵ c(ω) 
� ��� ������ ���∫ T

0

1Ĵ(ω)(t)dΛ(t, ω) =
∑

i

[Λ(βi(ω), ω) − Λ(αi(ω), ω)] = 0

-����� �� ��� ��
� ���
Hc(ω) ⊆ Ĵ(ω)

� ����	��
� ���
Ĵ c(ω) ⊆ H(ω).

��
��&���
� ���

Ĵ c(ω) = {t ∈ [0, T );∀s ∈ (s, T ), Λ(t, ω) < Λ(s, ω)}
.(��% t ∈ Ĵ c(ω) � ���� ��'���� ������' �	 ���� ���!����� {tn}∞n=1 ������ &��� �
{Λ(tn, ω)}n=1 �� ����� ������ ������' �	 ���� ���

t = lim
n→∞

tn, Λ(t, ω) = lim
n→∞

Λ(tn, ω)

��� �'�� n � ���% qn ��� �	��!� (t, tn+1). #���

t ≤ ρqn(ω) ≤ tn

���
t = lim

n→∞
ρqn(ω).

/�� ��� ���01� ����
� ���

Zo(ρqn(ω), ω) = Y (ρqn(ω), ω),

��� �$������� �� n → ∞� �����
����&���� �� �� �' �������� ��� Zo(.) ��� ��� Y (.)�
�������
� ��� t ∈ H(ω).
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